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Total No. of Questions: 15 Total No. of Pages: 08

High School Exam., December - 2019

011
Subject: ENGLISH (Special)

Time: 03 Hours Maximum Marks: 100

Instructions :-
(i) Read all the questions carefully.
(ii)  Answers should be complete and to the point.

(iii) Marks of each questions are indicated against it.
SECTION-A
(Reading)

Q.1 Read the following passage carefully and answer the questions given

below it —

Old people say that childhood is the best part of life. They look back at
their childhood and remember all its happy days, the jolly games, the fun
they had at school, the sweets and cakes they used to eat, jokes they
used to play and endless discussions they had among friends about
almost every topic. Perhaps these old folks are right. And yet they forget
many things that were not so pleasant in their childhood. There is a funny
story that tells of a boy, who was crying because he had to go back to
school after the holidays and the father scolded him and said, “Why, |
only wish | could be a boy and go to school again.” And all in a moment
the father was little boy and his son was a grown-up man like his father,
And the father, in the shape of a little boy, had to go to school, and | can
tell you he did not like it at all. A child’s troubles may seem small to

grown-ups but they are very big to him.
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Q.2

Questions -
(@) What are the joys of childhood?
(i)  Games, work hard and fun
(i)  Labour and work only
(iii) Eating cakes only
(iv) Games, fun, eating sweets and cakes

(b) Would old people be happy, if they became children again?

(i) Yes

(i) May be

(iii) May not be
(iv) No

(c) What wish did the father make?
(i) He had been a child again
(i) He would become an old man
(i) He would become a young boy
(iv) He would become a rich man
(d) To whom does a child’s troubles seem big?
(i)  To a mother
(i) To afather
(iii) To a child
(iv) To ateacher

(e) What were the things which were not pleasant in the childhood?

(f) How does the author compare childhood and old age?

Read the following poem carefully and answer the questions given

below :

Where the mind is without fear and the head is held high;
Where the knowledge is free.

Fragments by narrow domestic walls;

Where words come out from the depth of truth;

Where tireless striving stretches its arms towards perfection.

Where the clear stream of reason had not lost it’'s way into dreary desert

sand of dead habit.

Where the mind is led forward by thee into
ever widening thought and action.

Into that heaven of freedom, my father,
LET MY COUNTRY AWAKE.
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Q.3

Questions -

(a) Fill up the blanks in each of the following sentences with one of the
given words — (Fragments, striving, dreary)
(i)  The history of science is a continuous.......... after knowledge.
(i)  If there were no change in life it would become quite..........
(iii) In many parts of the country agricultural land is cut up into

(b) In this poem, the word ‘where’ refers to -
(i)  The entire world
(i)  The heaven of freedom
(iii) The dreary desert
(iv) Narrow domestic walls
(c) What sort of a place is the present world?
(d) What is the heaven of freedom?

Read the following passage carefully and answer the questions given
below it —

Discipline means obedience to the established rules of conduct. Certain
rules have been laid down in every society to control and regulate the
life and activities of its members so that the society as a whole may
progress in harmony and peace. If any of these rules is broken, there is
trouble and society suffers. In fact, the discipline is very basis of progress
in every sphere, public or private. A man without discipline is like an
engine without a brake. A society that has no rules or whose members
do not confirm to its rules soon fall into pieces. In games too, discipline
iS necessary.

Every player has to obey his captain and carry out his commands
whether he likes them or not. In army, discipline is more necessary. An
army without discipline is no better than a lawless mob. In the same way
a school or a college cannot run if the boys do not observe the rules and
regulations of the institutions. Teaching is impossible if the boys do not
keep discipline. Discipline cultivates a spirit of respect for elders and
superiors, teaches gentlemanly, behaviour in society and meek
submission to any punishment that may be inflicted due to indiscipline.
It is the duty of every student to observe them if they want to build their
character and prosper in life.
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Questions —

(a)

Q.4 Give an account of “Importance of Games and Sports in students life”.

Write a newspaper report to be published in a newspaper, giving the

detailed account of the annual function held in your school.

[011] RuN-10

Why are certain rules laid down in the society?
(i)  To publicize

(i) Toannounce

(iii) To progress in harmony
‘Discipline’ means -

(i)  Harmony and Peace

(i)  Obedience to the established rules
(iii) Certain rules

Discipline is necessary in games to -

(i) Feel happy

(i)  Throw balls

(iii)  Carry out commands

An indisciplined man is like an engine without...........

(i) Brake
(ii)  Clutch
(iii)  Wheels

Why are certain rules of conduct laid down by the society?
What will be the result if boys do not keep discipline?

What does discipline means?
What is the duty of every student?
What does discipline cultivate in society?

SECTION — B
(Writing)

OR
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Q.5

Q.6

Q.7

Q.8

Write a notice for your school notice board about the annual sports meet
to be held in the coming week.
OR
You have saved one thousand rupees. Write a message to your friend
describing your plan that how are you going to use it.
Write a paragraph in 120 — 150 words for your school magazine on “Safe
Driving”. Take the help of the following points :
(i)  Follow the lane
(i)  Continuous flow of traffic
(iii)  Cut down the risk of accident
(iv) Save yourself from heated arguments
(v)  You reach your destination faster
OR
Describe your childhood in your own words.

Write a letter to the District Health Officer drawing his attention to the
insanitary conditions prevailing in your locality.
OR
Write a letter to your sister in order to wish her a speedy recovery from
breakdown in health in about 100 words.
Write an essay on any one of the following topics in about 250 words:
i)  Aninteresting match | witnessed
ii)  Value of travelling

(

(

(iii)  Any great leader

(iv) Cinema - its merits and demerits
(

v) Science - its uses and abuses

[011] RuN-10 Page 5 of 8

[]

[7]

[6]

[7]



SECTION - C
(Grammar)

Q.9 Fill in the blanks using the correct words given in the brackets: (Any ten) [10x1=10]

(i)  You must return these books latest ...............cocoeeieinnnn. Monday.
(from, till, by)

() I OF- 1= P not be parked here.” (must, could, had to)

() e you stop making all that noise? (Will, Can, Shall)

(iv) The servantdidn'tmake ...........ccoeeieiiiannnn. tea. (much, many)

(V) He oo just like an angel. (look, looks)

(vi) The poor man couldn’tfind ...........c.ccceeennn. enough to thank me.

(sentences, words)

(vii) Tenmiles .....covvieiiiiii, along distance. (is, am, are)

(viii) Neverlean .........c.cooioiiiiiiinnnn. the wall. (against, with, of)

(ix) Hisbrotheris .........cooiiiiiiiiiiii, N.C.C. cadet. (a, an, the)

(X) Thereis ...ccoviiiiiiiiiiiiiiiee dirt on this plate. (some, a, an)

(xi) Thewoman ..............cooeeeenne. | met was Krishna. (which, whom)

(xii) Time and tides ........cccoviiiiiiiiniiiiiiians for none. (wait, waits)
Q.10 Do as directed: (Any five) - [5]

(i)  Who committed a mistake? (Change the voice)
(i) He said that those books were mine. (Change the narration)
(iii) Idon’t intend to go to Delhi.
(Rewrite the sentence using noun form of underlined word)
(iv) The lesson was so long that it could not be finished in a period.
(Rewrite the above sentence by using ‘too-to’ in place of ‘so —that’)
(v) Atime of peace and plenty are coming to us. (Correct the sentence)
(vi) (a) The news is true.
(b) Sachin has announce his retirement.
(Make a complex sentence having opposite clause)
(vii) He intends to live here.
(Rewrite sentences using ‘Gerund’)

[011] RuN-10 Page 6 of 8



SECTION-D

Q.11 Read the following extract from the poem and answer the questions

given below it :

“A youth, whose feet must pass this way.
This chasm that has been naught to me,

To that fair — haired youth may a pitfall be.
He, too, must cross in the twilight dim;

Good friend, | am building the bridge for him.”

Questions -

(@) The poet of these lines, is - [1]
(i)  John Keats

(i)  W.A. Dromgoole

(iii)  William Wordsworth

(iv) W.B. Yeats

(b) The one word used for, ‘mistake that can easily be made’ in the

extract is - 1]
(i) Pitfall
(i) Naught
(i)  Twilight
(iv) Chasm
(c) What did the old man tell his fellow pilgrim? [2]

Q.12  Read the extract of the poem and answer the questions :
“If you can dream and not make dreams your master,
If you can think and not make thoughts your aim.
If you can meet with Triumph and Disaster,

And treat those two impostors just the same.
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Questions —

(@) Whom is the poet addressing in the above lines? [1]
(i) People
(i)  Himself
(iii)  His neighbour

(b) Name of the poem is - [1]
iy If
(i)  Gitanjali
(iii)  Good will

(c) How does the poet want ‘you’ to treat “Triumph and Disaster’? [2]

Q.13  Answer any one of the following questions in about 120 — 150 words —  [5]

(a) How did the Mathematics teacher prove that he was more ‘Shrewd’
than the former pupil?
(b) “One who is intelligent is powerful” How did Gerrard prove that he
defeated the Intruder by his intelligence?
Q.14  Answer any four of the following questions in about 30 — 40 words
each — [4x2=8]
(@) What made the swallow stay behind even after his friends had gone
to Egypt?
(b) Why is hasty selling disadvantageous?
(c) How did the war affect the family of the two boys?
(d) What does Nehru find when he looks through the pages of history
or current studies?
(e) How did Johnsy associated her life with the falling ivy leaves?
Q.15 Answer any one of the following questions in about 100 - 120 words: [4]
(@) “United we stand, divided we fall” elaborate the thought.
(b) “A true leader is one who leaves his foot prints behind to be
followed by others”. What foot prints would you like to leave for
those who come after you?
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Higher Secondary Exam., December - 2019

052
Subject : ENGLISH (General)

Time: 03 Hours Maximum Marks: 100

Instructions :-
(i) All questions are compulsory.

(ii)  Answers must be complete and to the point.
(iii) Marks of each question are indicated against it.

(iv) Internal choices are given in some of the questions.

SECTION - A
(Reading)

Q.1 Read the following passage carefully and answer the questions given
below it —
How did man discover salt? We are not sure. Perhaps, the cattle of Stone
Age tribesmen found and fed on salt licks or salt rocks. Their masters may
have carried pieces of the salt rock to their caves. Salt springs were found
to provide a more constant supply of salt. Villages grew around these
springs. Man cut down trees for fuel for evaporating water to obtain salt.
In china, the early human settlements were near salt pans on the Yellow
River. Everywhere in the world, salt production has been going on for
thousands of years. The ancient Greeks and Romans included salt in the
offerings they made to their Gods. The preservative quality of salt made
it a specially fitting symbol of enduring fidelity. The word salt was used in
phrases conveying high esteem and honour; in ancient and modern
languages. In English, the expression, “the salt of the earth”, describes a
person greatly respected by the community. It was considered a
prestigious item of commerce and civilizations flourished because of it.
The sea has always been man’s most important source of salt supply.
When oceans recede, salt ponds and salt marshes are left behind.

The Romans were famous road builders. One of their roads called
the Salt Route, built around 400 B.C. exists even today. In those days,
salt from Rome was carried along this road to central ltaly. The early
Egyptians were supplied with salt from swamps at the mouth of the Nile.
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Questions —

(a)

(i)
(0
[052] RuN-12

What is the meaning of ‘Prestigious’?

(i)  Having respect (i)  Religious
(iii) Business (iv) Necessary
The noun form of the word ‘describe’ is —

(i)  describe (i)  description
(iii) described (iv) redescribe
The opposite of the word ‘modern’ is —

(i) new (i) early

(iii) ancient (iv) recent

The .......... of the tribesmen may have carried salt to their caves.
(i)  servant (i) master

(iii)  friend (iv) neighbour

The constant supply of salt was made by —

(i)  Salt springs (i) Rivers

(iii) Forests (iv) Early man

The early Egyptians used to get salt from swamps at the mouth of

(i)  Nile river (i) Sea
(iii)  Yellow river (iv) Salt rocks

In those times, around the springs, ............c.......

(i) cities (i) villages
(iii) roads (iv) forests
“The salt of the earth” means —

i) A person greatly respected in the society.
i)  The salt that we get from salt springs.

i) The salt offered to the Gods.

iv) A person not respected in the society.

(
(
(
(

Why do you think salt is very important since early days? Mention

two points.

How was the ‘Salt Route’ important for the Romans?
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Q.2

Read the following passage carefully and answer the questions given
below it —
The form of government in which political power rests with the people is

known as democracy. Abraham Lincoln, a former President of the United
States, gave a brief and clear definition of this form of government.
According to him, “Democracy is the government of the people, by the
people and for the people”. According to Prof. Puntambekar, “Democracy
is that government in which power of the state is exercised by the elected
representatives of the people and they enjoy support of the majority.”
Similarly, on the basis of definitions given by Dicey and many other
scholars it can be easily said that democracy as a form of government is
a system in which people govern themselves either directly, or indirectly
through their representatives, in the interest of the entire country. The
government is not an end in itself but it is a means for the social good.

Many political scientists use the term ‘democracy’ not only as a form
of government, but also as a kind of state. Democracy as a kind of state
implies such a state in which the supreme political power rests with the
people. The people are ultimate decision makers in all political matters. In
this respect democracy is considered to be a type of state. A democratic
state allows people to freely set up their political institutions. If they do not
function properly and effectively, they can be modified or replaced by the
people. There are scholars who would not like to limit democracy only to
the form of government, kind of state and political aspects of the
individual. They consider it to be a form of society which is based on social
equality, liberty of the individual and fraternity, thus extending the scope
of democracy to various aspects of the life of the individual.
Questions —
(i) (a) Onthe basis of your reading of the above passage make notes

on it, using abbreviations, where necessary.
(b) Give a suitable title to it.

(i) Prepare a Summary of the above passage.
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Q.3

Q.4

SECTION - B
(Writing)

Your father has been transferred to another city. You want to sell certain

household goods. Design a suitable advertisement to be published in a

local newspaper.

OR

You are secretary of the cultural activities of your school. Write an
attractive notice giving information about the selection of two participants
from your school to take part in the inter-school debate competition.
Using the following inputs produce a write—up on ‘Importance of
Developing Reading habits’ —

(i)  Field of knowledge expanding fast.

(i)  Reading at school limited to subjects offered.

(i)  Extra reading necessary for rounded personality.

(iv) Creation of generation gap.

(v) Continuous reading necessary to keep updated.

(vi) Reading makes a full man.

OR

You have withessed an accident. Write a report for a newspaper about
the accident using the following details —

(i)  Where, when and how did the accident happen?

(i) People, vehicle involved.

(i) Loss of life and property etc.

[052] RuN-12 Page 4 of 8
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Q.5

Q.6

Q.7

You are the monitor of your class. Your classroom is not cleaned
regularly. Write an application to the principal of your school requesting
him to look into the matter. You are Shivani of 12 Bio of Govt. Ex. H.S.S.

Ichhawar.

OR
You are Ashok residing at 154 M. G. Marg Ujjain. Write an application to

the collector of your District for imposing restriction on the use of
loudspeakers during examination period.

Write a letter to your younger sister Pinki advising her to celebrate Diwali

without crackers. You are Priya residing at Govt. Girls Hostel, Rewa.

OR
Write a letter to your friend inviting him /her to attend your birthday party.

Write an article on “Importance of Trees / Forests” with the help of
following inputs:

(@) Useful for human lives

(b) Causes for rain

(c) Other importance

(d) Need and Value

(e) Celebration of “Van Mahotsava”.

OR
Write an essay on any one of the following topics in about 250 words —
(@) Value of Games and Sports
(b) The Unemployment problem
(¢) Our Daily Life and science
(d) A person whom | respect most.
(e)

e) A visit to a place of Historical Importance.
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(Grammar)
Q.8 Fill in the blanks with the help of the correct alternatives given in the
bracket —
(i) Thetrainlefthalf .................... hour ago. (a, an, the)
(i) Thebus............. come late. (may, could, should)
(i) lhave ................. money in the pocket. (any, some, much)
(iv) Helost..........c...... the money he had. (each, every, all)
(v) He has been living here ................ 1998. (since, for, from)

SECTION-C

Q.9 Do as directed — (any five)

(i)

(vii)

Q.10 (A)

[052] RuN-12

This table is too heavy to lift.

(Rewrite the sentence using “so — that” instead of “too —t0”)
We are collecting the old coins. (change the voice)

He teaches English. (change into Negative)

he/ hardly/ any/ money/ has. (Make a meaningful sentence)

If Ram does not act now, he will lose everything.

(Use ‘unless’ in place of if’)

(@) Icalled him loudly.

(b) He gave me no answer.

(combine these sentences with ‘but’)

He is too poor to pay his fees. (change into complex sentence)

SECTION-D
(Text book)

Read the following extracts from poem and answer the questions
given below it-

“But what am [?

Only a captive,

chained to the earth.

In silence | grow old,

In silence | wither and die.”

Page 6 of 8
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Questions —

(@)

(c)

Who is ‘I’ in these lines?

(i)  River (i) Forest

(iii) Sky (iv) Earth

From these lines opposite of the word ‘Free’ is—
(i) Captive (i) Old

(iii)  Silent (iv) Wither

Give the name of the poem from which these lines have been
taken.

“Some words have different meanings,

and yet they’re spelt the same.

A cricket is an insect;

to play it it's a game.

On every hand, in every land,

its thoroughly agreed,

The English language to explain,

is very hard indeed.”

Questions —

(@)

(b)

(c)

The opposite of the word ‘same’ in the stanza is —

(i)
(i)

(i)

difficult (i) different

hard (iv) every
The meaning of the word ‘hard’ is —

difficult (i) easy

rough (iv) plain

(i)

Name the poem from which this extract has been taken.

Q.11 Answer any two of the following questions —

[052] RuN-12

How could listening to one’s inner voice be helpful?

Why does the poet regard earth as a friend?

What is the difference between a selfish and a helpless man?

What did the poet see when he reached the temple?
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Q.12  Answer any seven of the following questions — [7x2=14]

i)  What happened when Birju went to collect firewood?

i)  What happens if we prejudge people and future events?

(
(
(i)  Why did the neighbourhood children not become friendly with Mini?
(iv) What does the brain do when carbon dioxide rises in the blood?

(

v) How according to the author are blind people better in seeing than
the sighted?

<

(vi) Why does the author choose this occasion to advise his son?
(vii) What made the author feel secure and why?

(viii) What was the topic of discussion at Dabney’s?

(

ix)  Why did Ghasi curse Master;i?

Q.13 Answer any one of two — [4]
What does Dr. Kalam mean by having an indomitable spirit? What are

civic duties?
OR
Describe the duck’s farewell.
Q.14  Answer any four of the following questions — [4x2=8]

(i)  Why is the Gita beyond the mere intellect?
(i)  What risk do we face when we laugh?
(i)  What is idleness according to the author?
(iv) What do people do for their harvest?
Q.15 Summarise the poem “Cloud”. [4]
OR

Summarise the poem “We are the Future”.

[052] RJN-12 Page 8 of 8



G YAl DI HRAT : 22 Hl JO] DI A=A : 08
Total No. of Questions: 22 Total No. of Pages: 08

BRR AhUsy TR, feawR — 2019

053
fava : Gepd (@M)

Subject: SANSKRIT (General)

HAY : 03 HUC qurie : 100
Time: 03 Hours Maximum Marks: 100
fader —

() &9 ge=r: sfFart G/
(ii)  FoTg g7 AV THE fondyar qix/

g1 Ifd ey o forad — (5x1=5)
(1) ufofes sl o WA R —
(@) feg: w=: (@)  SIIAIG: FH:
() Yo (@) FHHIRT: AART:
(2) ITEUH" AR U HHN Ao IR —
(1) g AT @ w7 A
(®) SIgETH AT (¥) wuw IIaq
(3) COYTY AR IaTevUH AR —
(@) el @) arfEER
(@) PRy () worET
(4) R TETH SO NP IS Hafd —
(&) ToaE @) ToaET
() oo (/) TRI T
(5) guwa sfd uq | aRe —
(@1 R AR @ foast af

PERSEGIEE

(W) @ At

a

[053] RJN-12 Page 1 of 8



(1)  orEnferRedy o ATRA —

(@) wd @ =
@) = ) W=
(2) ‘erEH AU MUVl TEBTH IIRAT a1 3rea IRT —
() omH (@ o
(@) s (&) TreBIH
(3) swmEforRaay U ARG —
() ol (@ afa
(@) afa (@) o
(4) orenferRecy o R —
@) T @) wrsfa
() SeH (?) o=
(5) UF®: SARHT U< AFRE SRa —
(&) Tor (@ aor afa
(@) < () gl wf
u3 Sfud fdwes foar foraa — (5x1=5)
(1) enfie: sARET U yega: IR —
@) o°% @) g
&) A4 (&) oM
(2) ‘o AR U< Ug: ARG —
(@) 9 @ &q
@) fog () dfeq
3) sl U< g eiRa —
@) <y @ <M
(@) <M (@) faa
(4) oENfRaay Fdaq U IRkd —
@) wrfedar (@) owHE
(@) ghemm (@) S
(5) amfrer’ saRwe |ffr: fa=ge iRa—
@) @@ + g (@ arfr + g
(&) @ + = &) arfr + s
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U.12

U.14

.15

(i) oMEfIRed e wu Meeurgar forad —
Sl
3 (qfeetsy/ wer faufac:, sgaer)
(i) ernfaRaquewr foufad foraa —

STy
KREI)
arfy
(i)  srenfaRaduewr ge= forad —
T
rerar
:ﬁ@::
e o —
(a1) @)
() fowarer: STSICTAT
(i) eI forar
(i) <A1 S Y
(iv) BT RECIERI

(i) Bfd ARID: Igell AUTDR:?
(i) v 9afy @Y Jar?

(i) HERISIR A b B7R?
(iv) reron wfa fdem: srefian?
(v) = gs fb gfafteas?
&<l ea: TGbATHIOT fHod —

(e, Ry, fa:, Awen, &M, 5dd, IR, H)
SRR TUE g™ IL.......... JGE | TH......o.co. faenfd: faemeagmreiy smresf

STRRATIY |
SRl
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(ve, wafd, &l Jaf, g9=:, IoFal, -7, gorHR)

G g1 TG HadT: aTd: BT IcHd o | TR HAH.o.or 9 |

.................... AT FAF TR T | BB BIS[TAAR............. AN |
9416 U UA FANAN YAIbT (981 W[UIed qRaald GuTvdgd fored | (4)
U147 Uk e ReacRemyfd god — (Fcar) (4)

(AT, AR, AR, AR¥Ed], fosdr)

(i) VA BIA T |

(i) AT e YIoTIeTH |

(iii)  fIEOT AT |

(iv) aEfd AeH<... THRN |

(V)  HBT 30T EERRINE
918 IFIRITTEIRIy TERgIR YA SR W WY ST+ — @®)

(@) T gEEI HARAUIRIT ST | FRAfhearerdy wIon G qeEET SRk
SId: URRART: ATl a7 SMRA | SIS JeR ISETHRO:
ST Rt Qifsar: | s afFerg ardn: J=|rRar: |
() O T S BT Ra=T SIAT?

(i) HF UM AT FEAAT S7RA?
(ii)  SITTTTHT BYH IFHGIPROU: w0 FraRidifSdar af?
(iv) B arert: wTRar?

(@) g YAERU HAUTIH: AR | AW B g STeTlas 9afd | STereraei
JEdl YT &=l | Sfdblel WHFI WAl | YeROHU WA | 3 SREI:
JETRIIUH 3fa Pt |
(i) @ TATRIRY JAUTIHBT: Af?

(i) e 5 af?
(i) P sy, Hear?
(v) g e i waf?
([@) A SR Walwd | SRy g wakd | gitcea Jsiq wafd | At B

IEHAfT | HH FEI0T: qAT F&l 31ERT SSHANT | Ud IRERASHRYT Yafcid Jsrash
STTfT acfa?
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) 3 BIf wal?
i) I P IARE: 9afa?
iii) T b Hafa?

(
(
(
(

iv) @+ gafdd asresh S add?

JFNTIRITU=IRY TR TeAR STRIOT FERRAATNRITH QA1+ —
(3) URH IRS: T SI9H IRE: 2T |

IS WM IRG: 9 I IRS: A | |

(i) 99 DIgm WH?

i) BT TR gRE?

(
(i) ¥ Bfd IRS: SAeH?
(

iv) @ IRS: AR TP

(@) A AFIEET e Sfeel,

= =T AT AT ISTATT |

T I YoIIE A,

TAISAETE: A1 gfg o= | |

(i) @ 3T dAd PorIfa dd.?

(i) @ g& 7 3edi?

(iii)  SrgATAT A= b T U7
(iv) e fob = ov=?

(@) IoErRwggyd <ar 9 afw fmfaner e ge e 9 vegfRe |
fAf¥aarfy foRmfa ke |
(i) <O & T IIY?
(i) AR SR & 9 IRR?
(i) <ar @ e foRm T wag:?
(iv) @ fafaarriq 7 fovaf |

IR YAV U5 JSH @UERRI §dd Uh U3 fored |

SACll
GERISICERSECN
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AR ST g 38N | @ 9 999 Ta U 9 | 3T ERTOTRY . STaegdh]
vafd Iw ued g9 9afd | ge od | FEE gey g et st et | =R,
HUCH, I UTK g fIATRIBR 9afcr | HiY HHom, rurer, GRS ° U o= Bl |
I g Beld Id g YT | g gl Jafd | g g wd SId | I

A, T TR & |

(i) B S U FTBI?
i) & UG ae foarere] wafa?

(
(i) gE@ P UIg THRIA?
(
(

iv) WX & gl qafa?

V) TGS A e |
g22 iRy g fawd Wipan Sxgpa W e foraa — (10)
(i) S¥Pp: AT TR
(i) orTS <
(i) I SfeTm
(iv) sieeTTag i
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G YAl DI HAT : 26 Hl Y| DI AT : 16
Total No. of Questions: 26 Total No. of Pages: 16

Bs T e, fea=R — 2019
100
fawa - fora
Subject: MATHEMATICS
(Hindi & English Version)

FHI 1 03 T quifeh : 100
Time: 03 Hours Maximum Marks: 100
fader —

() T g7 ST &/

(i) g9 8G AT % GTF THT 3Hd 8/

(iii) T¥7 FHHEH 6 @ 26 TF # IaARE by 8/
(iv) OT8T 3TegHar 8, e § THiGT 37 759/

Instructions :

(i)  All questions are compulsory.
(ii)  The respective marks are allotted against each question.
(iii)  Internal options are given from Q. Nos. 6 to 26.

(iv) Draw neat and clean labelled diagram whenever required.
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U1 el [ddhey ﬂﬁ — (5)(1:5)

(i) XRgd FHABROT FH aix + b1y + ¢1 = 0 3R a2x + bay + c2 = 0 FAGR &Y
gefRid xar ®, afe —

(@) a1, b

a; by

@ Z=2-2

b_1_b_2 C2

(@ -3,-2,-1..cccennnnnn.
(b) 3,6,12....cccee..is
() 1,3,5. i
@A) 227
(i) I BT 37 Al W ufdees R 16l X@T BEdRil & —
(@) <9 @
(b) frsar
(c) ®Bad @
(d) Sfar
(iv) feT U Uerorl # Haifde qRARAT arell A9 Bl © —
(a) #re™
(b) #rEI®R
(c) S8
(d) wTRrear

(v) 99 & 9 -0 T 0 geAr & uifiedar J8l 8 Ahd?
(a) =
(b)y -15
c) 15%
(d) 0.7
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Choose the correct option -

(i)

(i)

Pair of linear equations aix + b1y + ¢1 = 0 and a2x + b2y + c2 = 0 show

parallel lines if -

(a)

a b

az by

b

a; by ¢

a_bi_a

az by C2

@ B=ped

Which of the following are not an Arithmetic progression?
@ -3,-2,-1 i

(b) 3,6,12...ccccninnnnn.

() 1,3,5. i,

@) 225

The line which intersects the circle at two points is called -
(a) tangent

(b) radius

(c) secant

(d) chord

The value among the observations which occurs with maximum
frequency is called -

(@) Mean

(b) Median

(c) Mode

(d) Probability

Which of the following cannot be the probability of any event?
(a) =

(b) -1.5

(c) 15%

(d) 0.7

[100] run-10
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g2 Raa i o gfid sy — (5X1=5)

(i) el B 9898 @& BT oo IS B Fhd B |

(i) fgara BT axt+bx+c=0, a#0 ¥ IE b2-4ac=0, A T oo
.................................... B B |

) I LIS K TN S BId 2 |

(iv) I T o5 W@ & a1 ST I BT BT 8B FAT o BRI |

(v) Br=m v ae 99 & e e, et S17 0 2, BT 80
BT |

Fill in the blanks -

(i)  Acubic polynomialcan have at most..............ccooiiiiiniinnnne. zeroes.
(i)  In a quadratic equation ax? + bx + ¢ = 0, a # 0 if b?- 4ac = 0, then roots

g3 frHfaRad # 9@ /e falag — (5%1=5)

: .6 .
) uRey rrARREEER A =

(
(iy Rg® IgUT BT Al A&d % BIAT 2 |

(i) TP frelt g W el vy et fdfg & o arell B R &9 gt 7 )
(iv) ST DIV BT A9 90° ¥ 31fAdH BT AT |

(

V) W, Aedd Ud d9geld deaid Ugil & A g |

c

Write True/False in the following -

. : 6 N : :
(i)  Rational number = have a terminating decimal expansion.
(i)  The graph of a linear polynomial is always a curve.

(i)  The tangent at any point of a circle is perpendicular to the radius through
the point of contact.

(iv) Measure of angle of elevation should be greater than 90°.

(v) Mean, Median and Mode are measure of central tendency.
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U4

U5

U BT U e /TR H IR forRau— (5%1=5)
) a8 Rad FHIBRU I TS DS B 21 B IH HBA oo

(
(i) feard FHHRUT 8o B Bl G oy |

(i) % FEaR S (A.P.) Riers et @ s aRfT ), deard 8
(iv) <1 gl o FoaRil § 2:3 &1 AU 7, 1 SAd &bl H T 3T BIIT?
(

v) g b fIH B AT BT GF forfay |

Write the answers in one word/sentence-
(i) A pair of linear equations which has no solution is called...............
(i)  Write formula to solve quadratic equation.

(i) An Arithmetic progression (A.P.) which have a finite number of terms is

(iv) Ratio between radii of two circles is 2:3, then what will be ratio in their
areas?

(v)  Write formula of volume of frustum of cone.

R SIS I (5Xx1=5)
Match the correct column-
W™ A’ (column -A) W™ ¥ (column -B)
(A) (B)
(i)  2(sin20 + cos26) (a) V3
(i) sin30° (b) sec?0
(i) tan60° (c) 2
0 %
(v) cosec?6 - 1 (e) 1
(f) cos60°
(g) cot?6
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U6

U7

us

HCF (306, 657) = 9 f&am €, a1 LCM (306, 657) ST &I1oTQ |

HCF (306, 657) = 9 is given, then find LCM (306, 657).
3erar/ OR

26 Td 91 &1 LCM 3R HCF = #IRrg |

Find LCM and HCF of 26 and 91.

feend 9gue x2— 3 & JEIF F1d BIRTY |

Find zeroes of quadratic polynomial x2— 3.

3erar/ OR

ggUSl @l 91 & AER R Wad ggue’ vd fgurd ggue’ &l aR9ia Sy |

Define ‘linear polynomial’ and ‘quadratic polynomial’ on the basis of degree of

polynomials.
fa=gati (2, 3) 3R (4, 4) & dr= X 1A BN |

Find distance between points (2, 3) and (4, 4).

3rerar / OR
afe (3, 4) 3R (5,2) i g & =9 & RRI & fdwie € a1 9d @ &= @

fHreee md BT |
If (3, 4) and (5, 2) are co — ordinates of the end — points of diameter of a circle,

then find co-ordinates of centre of the circle.
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g9 [l 9w T T IR IBIA WR D HU Hald R I’ 34 &1 yiliear sia
FIRY | v
Find the probability of getting ‘Head’ on upper face, when a coin is tossed

once.

3erar/ OR
T RaerSt ‘da iR AT S &1 U HY Wil © | dod gRT HE Siiad &l

UIRIAT 0.38 &, AT §AT & Hd Sild I Uil S1d Hifor |
Two players ‘Kanchan’ and ‘Huma’' play a tennis match. Probability of
Kanchan’s winning the match is 0.38, then find the probability of Huma winning

the match.

710 B 9 @ (& IR IBTA- W FHRIAT 3 B YIRS S1d DI | @)

Find the probability of getting ‘even number’ in a single throw of die.

STQNTZOR
Udh 9o & g VAT O © RoTId Bardl R fAefarRad s sifdd €

A B C D E A

3 U BT T IR Bep R ‘A’ UTd B BT UIRIBar S BT |

A child has a die whose faces show the letters as given below:

A B C D E A

The die is thrown once. What is the probability of getting ‘A’.
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g11 g oIig — (3)

sin6—2sin36
————— = tanb
2c0s30—cosO

Prove that —

sin6—2sin30
—_— = tanO
2cos30—cosO

34T / OR
7 1ot @ sin25° cos65° + cos25° sing5°

Evaluate : sin25° cos65° + cos25° sin65°

g12 fI5 (- 4, 6) 953l A (- 6,10) 3R B (3, - 8) &I SIS dlel NS Bl b gUTad
# faifora sxar 22 (3)
In what ratio does the point (- 4, 6) divide the line segment joining the points
A (-8, 10) and B (3, - 8)?
3erar/ OR
I S &1 &amd 91d aiforg fords o § —
2. 3), (-1, 0) 3R (2, —4)

Find the area of the triangle whose vertices are: (2, 3), (-1, 0) and (2, - 4).

U3 T Hhwul gl B Boarg 5 9. 9T 3 FHL B | 99 I BT S il &) dAdTg S
PTG, ST BIC T BT WL BT 8 | @3)

Two concentric circles are of radii. 5 cm and 3 cm. Find the length of the chord

of the larger circle which touches the smaller circle.
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U.14

.15

gerar/ OR

e g Q 9 U g9 R Wl @1 B ddiE 24 WAL TAT Q B = F g 25 FAL

g, 1 g B F3odn =1 B |

From a point Q, the length of the tangent to a circle is 24 cm and the distance

of Q from the centre is 25 cm, then find radius of circle.

a1 gt @1 B w8 W ok 6 WAL €| S g9 @ B S S fase

SIS §7 QM gl & SFBAl B AN P IR T |

The radii of two circles are 8 cm and 6 cm respectively. Find the radius of the

circle having area equal to the sum of the areas of the two circles.

3erar/ OR
TP g S AGATY BT SFHA S Difory, fordar gk 22 . 2 |

Find the area of a quadrant of a circle whose circumference is 22 cm.
g PIRT : V3 U uRay wwm 2|
Prove that: /3 is irrational number.

gerar/ OR

135 3IR 225 BT HCF ‘Ifders’ favroe TeiRe™ &1 YT &xd S1d HIToTY |

Use Euclid’s division algorithm to find HCF of 135 and 225.

[100] run-10 Page 9 of 16
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u16 fgord 98U x2+ 7x + 10 & D S DI AR DI TAT UMDl & dra Fae

P AT DI GBI |

Find the zeroes of the quadratic polynomial x? + 7x + 10 and verify the

relationship between the zeroes and the coefficients.

gerar/ OR

TgUS x3- 3x2+ 5X - 3B x2- 2 9T QR ANTHA AT Yhe S DITOTT |

Divide the polynomial x3 - 3x?2 + 5x - 3 by x2- 2 and find the quotient and
remainder.

917 e iR #oft (ALP.) # 50 ug € e dwr ug 12 & iR @ifaw ug 106 T
BT 29a1 U S DIFOTY |

An A.P. consists of 50 terms of which 3™ term is 12 and the last term is 106.

Find the 29" term.

gerar/ OR

sl AR 9ol (A.P.) &1 U2¥ U< 5, 3ifH g 45 3R IRT 400 © | UGT B H&AT
IR ATAIHAR ST HIFY |
The first term of an AP is 5, the last term is 45 and the sum is 400. Find the

number of terms and the common difference.
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U.18

.19

3Tl 3 | U US T STl B 3R T 83T W1 §9 Re §$ Wil & b US &l
Rrar S &7 g1 AT ® 3R 39 A1 30° BT BV 4T & | U B ure— fag
B G, TE U BT RRER HE BT uAr €, 8 WL B US B FAE T BN |

A tree breaks due to storm and the broken part bends so that the top of the
tree touches the ground making an angle 30° with it. The distance between the

foot of the tree to the point where the top touches the ground is 8 m. Find the

height of the tree.

STWTZOR
7 ®). S 999 B RBRIR A Uh dadl <R & RBRR BT I~1I9 10T 60° & IR 39

UTE 6T AT BIT 45° B | TR BT $HaTs S DHIFIT |
From the top of a 7 m high building the angle of elevation of the top of a cable
tower is 60°and the angle of depression of its foot is 45°. Determine the height

of the tower.

‘P’ o o At @ forg, fT Ifiaxot & T @1 U fgT gt 27

4x + Py +8=0
2x+2y+2=0

For which values of ‘P’ does the pair of equations given below has unique

solution?
4x + Py+8=0
2x+2y+2=0

[100] run-10 Page 11 of 16
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gerar/ OR

TP fohbe SH & ®IF 9 7 dool TAT 6 ¢ 38003 H WIIET | 918 H SEAH 3 dool Tl

5 15 17503 H TNIGT | YD ool 3R TAD g BT oI A1 DI |

The coach of a cricket team buys 7 bats and 6 balls for ¥ 3800. Later, she buys
3 bats and 5 balls for ¥ 1750. Find the cost of each bat and each ball.

Y20 CURINIRY yHg” ford vd Rig #Y | (4)
State and prove “Pythagoras Theorem”

3erar/ OR

Ife AABC ~ ADEF ? 3R 39 &5thol Hy: 64 9612 3k 121 9@ 28| afe EF =
15.4 3. 81 I, BC S ST |

If AABC ~ ADEF and their areas be respectively, 64 cm? and 121 cm?. If EF =
15.4 cm, then find BC.

U21 TP G &) e B gS B 1S 14 9. 2| 39 GE 8N 5 e # fd Smwa
ST HINTY | (4)
The length of the minute hand of a clock is 14 cm. Find the area swept by the

minute hand in 5 minutes.
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U.22

U.23

a1/ OR
<1 T8 i H BHifhd 9N &1 &F%hd Sd dIfoY, afa ABCD 4ol 14 JHI. &7

Ud of § 2 APD iR BPC 3T aiefgd 2 |

In given figure, Find the area of the shaded region, if ABCD is a square of side

14 cm and APD and BPC are semicircles.

v

FHIHOT 5x2 — 6X —2 = 0 & Hel S DI | (5)

Find roots of the equation 5x? — 6x — 2 = 0.

3erar/ OR
T FHARIT BT @ FaE s SR W 7 9L HH 2| A Hof 13 I @ @,

o 3 ST YoIY S BIAY |
The altitude of a right triangle is 7 cm less than its base. If the hypotenuse is

13 cm, then find the other two sides.

Th FHHIUT Byt ABC H, RTA®T 311 B 99U 8, Jfe tanA = 1, O |Famd
I fb 2sinA cosA = 1 ()

In a right triangle ABC; right - angled at B, if tanA = 1, then verify that
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U.24

.25

a1/ OR

I sin(A — B) = %,COS(A-I—B): %,GEWT A>Bar 0°<A+B<90°ar A
3R B S I |

If sin (A — B) = %,COS(A-I—B) = %,WhereA> B and 0° < A + B <£90°, then
find A and B.

4 I, 5 WAL 3R 6 HIL ORIl dTel U S @I & By 3R R 59
IR

Construct a triangle of sides 4cm, 5cm and 6¢cm and then a triangle similar to

it whose sides areg of the corresponding sides of the first triangle.

3erar/ OR
6 JI. 51 &1 ta 91 difau | ds | 10 9. R Red Us fag A g W el
RGN TH DI TGAT DI AR AT & Ug oy |

Draw a circle of radius 6 cm. From a point 10 cm away from its centre,

construct the pair of tangents to the circle and write steps of construction.

6 TN, 8 WL 3R 10 JHI. TRl a1el a1g & A o1 el T Ugadx T a1

ST TTeAT ST ST © | 39 Tl 1 33T =11 Iy |

Metallic spheres of radii 6cm, 8cm and 10cm respectively, are melted to form

a single solid sphere. Find the radius of the resulting sphere.

[100] run-10 Page 14 of 16
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gerar/ OR

g Racli a1 35 ¥ alel U Ui & MBR &I &, W Sl BRI a1t
ISl TR ARG 2| 39 Racl @1 dqof Sar$ 155 @i 8| 39 Rael &1
Aol U &Ewel S BT |

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of
same radius. The total height of the toy is 15.5 cm. Find the total surface area

of the toy.
u26 frefeiRad AR {6 Aigedl & 25 URARI § Ao W gY QfNd T B Sl

E

<% @@ | 100-150 | 150-200 | 200-250 | 250-300 | 300 - 350
SERIR)

aRaR 4 5 12 2 2

B =T

WIS TR g3 HIEd &g ST DIoTY |

The table below shows the daily expenditure on food of 25 households in a

locality-

Daily 100 - 150 | 150 - 200 | 200 - 250 | 250 - 300 | 300 - 350
Expenditure

(in%)

Number of 4 5 12 2 2

households

Find the mean daily expenditure on food.
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3rerar / OR
fr=faRaad oifars, 225 fasTell USRIl & Ufdrd Sfaiarer (8€i #) &1 gar <d &

E 0-20 20-40 | 40-60 | 60-80 | 80-100 | 100 -120
(eret #)
TR 10 35 52 61 38 29

SUBRUN BT TGl Sila- Plel I DITOTT |

The following data gives the information on the observed lifetimes (in hours)

of 225 electrical components:

Lifetimes 0-20|20-40|40-60 | 60-80 | 80-100 | 100 - 120

(in hours)

Frequency 10 35 52 61 38 29

Determine the mode lifetimes of the components.
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ar_ bi C1
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() APl ()
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[1x5=5]
€

[1x5=5]

[1x5=5]

(100)-U R-10

e Bk b L5 (V)

1.5 (b) % (a)
0.7 (d) 15% (c)

_E R 24
~JEap uy;uyéuffffufﬁf (i)

ax2+bx+c=0,a#0 c«bb«‘&u»u’( (ii)
Y {1 1o 3% b2 -4ac=0 St
Y AP SRR - T APl A (1)
&U‘*;‘;u’lb‘}'Un(Collnear)&}(f}@dfl (iv)
Bz

...... S0 K (Sector) Sl o 7hd_r Sid  (v)

e BASs 3 A
S Lo P D Pt (i)

et G U EEEL (i)

e O Bl i e U B0 (i)

& bbanslie $S390FSiAal  (iv)

ST Tt s (V)
Nz A L Ay

g eSS bt $e (i)

2 (Formula) b6 S ablrBos (i)
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[1x5=5]

[2]

[2]

[2]

[2]

[2]

(100)-U R-10

_;&uyzf; 5 4 )iy

B A
J3  (a) 2(Sin% +cos% ) (i)
Secc?s (b) sin30° (i)
2 (c) tan 60° (iii)
A Sin(902% ¢) (iv)
d
7 9 —cosi
1 (e) 2
Cosec9-1 (v)
cos60° (f)
cot’p (9)

&5 (306,657) L.C.M. Jie /LH.C.F. (306,657) =9 6,41y

“L”
-Z;{()’”H.C.F. »IL.C.M.§91.5/26
e p Ll X3 B A

€€ 9
L

S nL U PG G S
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[3]

[3]

[3]

[3]

[4]

[4]

[4]

(100)-U R-10

Sind=2sin%
3 =tang -Z=b
2cos’4-3cosf

€€ 9
L

Sin 25°c0s65°+c0s25°sin65° &= 0

e S ES S5 L 125 B(3-8) 4 A(-6,10) b (4,6) &

o
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_ﬂ(_.;/gf}fa/”JL){
“L’,

8 Quie 5% 248 Ku’V/?z_/’l;..g;Qﬁbg
B I T 256

Lo g 2= 65 8 I UL Usihs
—Unie L e AL YEE st 6 G B s

%22 (circumference)b{li—?é()"‘ézgf(&/iu’bvg
YT 7 (SN -
@
L Sk P IS .G F. € 225,135
EE UL X+ Tx410 L G
-é élp JJ“’? u&wd:(Coefficent)u:/dwulu:/"‘ul

[{TR 2]
L

L/ﬂ.’“ﬂ;.xz 2 x3-3x2 + 5x-; J;/?'/
-ép“"f(Remainder)JLA!J@/G
S ARSI T Yo
0529901060065 Tl 12
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G YAl DI HAT : 26 Hl Y31 DI AT : 08
Total No. of Questions: 26 Total No. of Pages: 08

ERIR AhUsy eTT, faawR — 2019
110
fawg : sfos™

Subject: HISTORY
(Hindi & English Versions)

HAY : 03 HUC qurie : 100
Time: 03 Hours Maximum Marks: 100

() & gIT A &/

(i) FeT HEE 1 & 5 TF FGITC F97 & JAB F7 5 35 BT &/

(iii) FoT PHIE 6 & 26 TF H s Rwcy @I 79 &/

(iv) J97 HHIE 6 & 10 TF FAF J97 & [o77 2 3/F & UF Jb &7 GV TTHT 30 Tl 7

foramr 8/

(v) F¥7 FHIF 11 & 14 TF FAF J97 @ o7 3 3F & T JAH Fo7 &I GV ATHT 75
=5l & forar 8/

(vi) FIT FHHIE 15 & 21 TF FAF F97 & [0 4 & 8 VT JAH J97 &7 G ATHT 120
&gl & forar 8/

(vii) FIT FHHIE 22 & 26 TF AP FIT & [V 5 3F & VT GAH FI7 HT G ATHT 150
&5l & forar 8/

Instructions:

(i)  All Questions are compulsory.

(ii)  Question Nos. 1 to 5 are objective type. Each question is allotted 5 marks.

(iii)  Internal options are given in question Nos. 6 to 26.

(iv) Question Nos. 6 to 10 carry 2 marks each and answer should be written in about 30 words
each.

(v) Question Nos. 11 to 14 carry 3 marks each and answer should be written in about 75 words
each.

(vi) Question Nos. 15 to 21 carry 4 marks each and answer should be written in about 120 words
each.

(vii) Question Nos. 22 to 26 carry 5 marks each and answer should be written in about 150 words

each.

[110]RuN-12 Page 1 of 8



g1 Raa =i o gfid sifig— (5X1=5)

(1) O AR B AT oo HIT H g3 |
(2) g TIRTAT BT TETT QAT oo off |
(3)  TEBTA BT HRA BT oo BHET I 2 |
(Y I rrc G Lo B 1 1 A o |
(5) RGO T oo JUTE GROT B o |
Fill in the blanks-
(1) Jain literature was created in ............cceevinenenn. language.
(2) Indus Valley people’s head goddess was ................c.....
(3) Gupta period was known as ...........ccocevevieinininnnnn. of India.
(4) The capital of Pallavas was .............ccccoiviiiiiiniinn.
(5) Shivaji held the title of ...
g2 fy=foRad ot § 9 /sraq faRay — (5x1=5)
(1) faae! &1 regae e & fdvta fhar S 2 |
(2) TSWl Uh TR FRIr 2 |
(3) M HATS HI RATGAT W@l fdddg F BT o |
(4) WRT ¥ S SOSAT BT BT RAYAT 1600 3. H BT AT |
(5) fafeem TR weadTd § W & AW A URIE o |

Write true / false for the following sentences -

1
2

(1)
(@)
(3)
(4)
()

Study of coins is done in numismatics.

Harappa was an urban civilization.

Swami Vivekananda was the founder of Arya Samaz.
East India Company was established in India in 1600 A.D.

In the middle age period Vidisha was famous by the name of Bhelsa.
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u3  EfRad geAl @1 SR U Tes 31erdr Uoh dred | ferRgy— (5x1=5)

(1
(2
&]
(4

)
)
)
)
)

T BIef e & U @ B | o
oA g foa 991 &1 ulig o or?
JIR D J§ & AT T FHIC HI AT?
ST a7 &1 Tl Hd 8 °

AT 2 BT FATUD DI AT?

Write the answers of the following questions in a sentence or in a word each -

1

Write the names of main centres of education in the Harsha period.

(1)
(2) Pulakeshin 1I"® was the famous ruler of which dynasty?
(3) Who was the Mughal emperor at the time of battle of Buxar?
(4) When did the massacre of Jallianwala bagh took place?
(5) Who was the founder of Ghulam dynasty?
u4  FEfaRad ol @ forg |8l e gaax faRkau— (5%1=5)
(1) TS §RT AN Jficlel Y fbhar T ar —
@ 1920 E. @) 1930 E.
(|) 1942 S. (@) 1945 S.
(2) ¥R ¥ FauH fHH R Q97 7 ARG FAEG U BT ofi—
(@) giels @ wra
(@) < (@) wma
3) 9ER 7 WRA H fha g9 &1 Aig & -
(31) Hrerdsr @) Rectoiraer
(@) goaw CCIEER
(4) AR @ AR WR MHAT fHAT o—
(31) wEHg o A @) He=Is AN A
(@) ¥e™e o &Rm @) <R+
(5) eTHER 7 ST B HY FATG fohar —
@) 1560 §. # @) 1562 5. #
() 1563 . H () 1564 . H
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Choose and write the correct answer of the following questions -
(1) Gandhiji's Non-cooperation movement begun in-

(@) 1920 A.D. (b) 1930 A.D.
(c) 1942 A.D. (d) 1945 A.D.
(2) Which was the first European country that got trading right in India®?
(a) England (b) French
(c) Dutch (d) Portugal
(3) Babar was the founder of which dynasty?
(@) Mughal dynasty (b)  Khilji dynasty
() Turk dynasty (d) Lodidynasty
(4) Attack on Somnath temple was done by-
(@) by Mahmud Ghaznavi (b) by Muhammad Ghori

(c) by Muhammad bin Qasim (d) by Dahir
(5) When did Akbar abolish Jizya tax?
(@) In1560 A.D. (b) In1562 A.D.
() In1563 A.D. (d) In1564 A.D.
95 el el a8y

- T
() ST BT favTe @) S
(i) TR Ut DI ATIAT @) drele™
(i) WRT # B TR (|) Tl EReard |
(iv) STH—ITU—AT @) e doA A
(V) ¥RT &1 AR ) b= T IR
Match the following pairs -
A B
(i)  Partition of Bengal (@) Dupleix
(i)  Establishment of ‘Gadar party’ (b) Kalidas
(iii) Governor of France in India (c) By Lala Hardayal
(iv) Jan-Gan-Man (d) By Lord Curzon
(v) Shakespeare of India (e) Ravindra Nath Tagore
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U6

uz

us

.9

U.10

wErTl & fawy ¥ Ry | (@
Write a short note on Mahakavya.
st/ OR
9 UMV BT BT &1 faeran faRkay |
Write any two characteristics of the Neolithic age?
Fedfed Sl BT g Ao @ or? 7))
What was the main food of Rigvedic Arya’s?
3erar/ OR
fAgaiRial & anfifes Sfrad &1 &1 faRivag faRag |
Write any two characteristics of religious life of the people of Indus Valley

civilization.

RIOTYd BIet SIIEX Yol & R H 39 F7 — FIT ST 52 @)
What do you know about the Jauhar custom of the Rajput period?

3erar/ OR
GRS Al ®1 e uRerg Y |

Give a brief introduction of “Prithviraj Chauhan”.

EAR] @& a9 & HROT foIRad | @)
Write the reasons for the Decline of Humayun.
3eqar/ OR

YT & UUH g& $ al IR faRag |

Write any two result of the first battle of Panipat.
IRA ¥ 3USl— W & 99 & & HRUT forfRey | @)
Write any two reasons of the struggle between British and French in India.

3erar/ OR

Tl & IRF BT AT B |

Portray the character of Dupleix.
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Y11

12

.13

.14

U.15

.16

EeTHTE B Yg P fadET BN | (3)
Explain the Battle of Haldighati.

3rerar / OR
E-v—gaEl & ygE gl 31 fade S |
Explain the main principles of Din-i-llahi.
FpaR B eififes A B A Ry iy | @)

Write three characteristics of the religious policy of Akbar?

3erar/ OR
TMESTE] BT UATAT DIl AT BT TR AT &RIT 3T 39 HAUT H HeHd &7
Ruling period of Shah Jahan was the golden Era of Mughals. Do you agree
with this statement?
IR 3MaTe H SUATE] LAl & ST & T BRI A? (3)
What were the reasons of the rising of aggressive nationalism in national
movement?

3rerar / OR
ARA H I B & 3qaed forfay |

Write aims of National Congress in India.
YR BIST ATGIT 1942 5. Pl JAHAN D PIg A DR IS | 3)

Write any three reason of failure of Quit India Movement of 1942 A.D.

gerar/ OR

HETAT e & ITcAD DIl DT Joi HRT |

Explain the creative works of Mahatma Gandhi.
9 UTTOT BT d YRT UTNIOT Bl & Hed T R A7 @)

What were the differences between the Neolithic age & Paleolithic age?

serar/ OR
T AR Sfer @ STMaGR & U ArF! & dféra aRkes Oy |
Give a brief description of the main sources of Ancient Indian history.
FSWT WP P AT & HROT ferRan | (4)
Give reasons of the decline of Harappan Civilization.
serar/ OR
AfeH BTl M TR BT FHEY |
Explain the Ashram System during the Vedic period.
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U7

U.18

.19

U.20

.21

Y22

ATd DTAIT DAl TR YHTe Sferd | @)
Throw some light on Arts in the Chalukya Period.

AT / OR
Tl Bleil- Srefgaeerr &) fagyam fIlRgu |

Write characteristics of finance system of Chola period.

Rrarsil & = dler vd aReeridl ax) & vy # oy a1 S 27 (4)
What do you know about the taxes “Chauth” and “Sardeshmukhi” under the
rule of Shivaji?

GT?TCH(OR
R & IR IoHfde smest folay |

Write four political models of Shivaji.
IRR & g - @R & R D DI Yol B 341| g9 B 6 ARAT BV (4)

“What remained incomplete in the Battle of Plassey was compensated in the
Battle of Buxar.” Throw some light on the above statement.

3rerar / OR
3T AR S8 S & Sl BT goi DI |(Pl @)
Describe the sources of knowledge of Modern Indian History.(Any four)
A 1857 5. DI DI B W TR IASHID BRI BT Iooid DIy | (4)
Describe four main political causes of the revolution of 1857 A.D.

erar / OR

“RTSTT MAAIET 1 TASIRRYT & 3Gd o IIERVT Al W HIY |
“‘Raja Ram Mohan Rai was the fore runner of renaissance.” Explain it with
example.

Y ¥adadT G H qUSY & INTeH & IR H 9disd | (4)

Write about the role of Madhya Pradesh in first revolt of Independence.

gerar/ OR

T 1857 @I pifd H ALY H AERMI <6 913 & AN BT qargy |

Write the role of Maharani Laxmi Bai in Madhya Pradesh in revolution of 1857
A.D.

MR BT el BT ya faRvamg forRag | ()
Write the main characteristics of “Gandhar” Art style.

3rerar / OR
THIC 3NEH DI AE Tl HEl STl 27

Why Samrat Ashok is known as great?
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U.23

U.24

.25

Y.26

afdg eI & Sed & U BRI foRay |

Describe the reasons for the rise of Bhakti movement.

3erar/ OR
JeRTe QeI I A3 BT g DI |

Describe about the plans of Muhammad Tughlag.

STaRiE 9 Rarsl @ #ea g3 QX bl el B Wl BT ool BT |

Write the clauses of the Treaty of Purandar held between Jai and Shivaiji.

3rerar / OR

Rrarsl & alRka vd sraf &1 qedidd iR |

Evaluate the character and contribution of Shivaji.

fafeer o & YRA W UsH dTel JMMiY@® JTal @ ARAT DI |

Explain about the economic effects of British Administration on India.
3erar/ OR

T 1857 @1 hifd & Rl &) fagaer #IRvT |

Describe the results of the revolution of 1857 A.D.

ALY H YT Y R$T & IR H qaigy |

Explain about the ancient monuments found in Madhya Pradesh.

grerar / OR

ARYSE W BFA—DF A WPl AeRg U U 87 ST Wbl & dR H

RIT—FT STHHIRAT I BT 27

What type of inscriptions were found in Madhya Pradesh during the Gupta

period? What do we learn from them about the Gupta period?
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B YT DI T - 18 G Y] DI AT : 08
Total No. of Questions: 18 Total No. of Pages: 08

ERR ABUSY W, feaw=R — 2019
120
fawa : e

Subject: GEOGRAPHY
(Hindi & English Version)

|HY : 03 TS quiies : 070
Time: 03 Hours Maximum Marks: 070
faeer —

() G geT At &/

(i) T & 1 4 TP IeGI70 J97 & AP F97 & ford 5 & [FERT &/

(i) FoT . 5 & 18 TF H JT<iRF AHeT o7 77 &/

(iv) J97 & 5 @ 7 d& gdd g9 & forg 2 3o [efa &/ oav forega @1 Iss &ar
ST 30 T &/

(v) FIT & 8 § 10 db Jd% §o7 & forg 3 & [QgiRa & oav foras @1 oiss &iar
ST 75 T &/

i) FIT F 11 & 15 TF FAF F997 P 077 4 3 [HERa &/ oav foras @1 g5 Har
STTHIT 120 91T &/

i) FIT B 16 G 18 TF & FdP F979 & [ov 5 3% [FeRa & gav foras @1 Irsq Har
STTHT 150 F17 &/

(viii) F¥T FEIH 17 1399 & FFaT @1 gid & G=RT 8/

Instructions:

(i)  All questions are compulsory.

(ii) Question Nos. 1 to 4 are objective type. Each question carries 5 marks.

(iii) Internal options are given in question No. 5 to 18.

(iv) Question Nos. 5 to 7 are assigned 2 marks each and answer should be given in 30 words
each.

(v) Question Nos. 8 to 10 carry 3 marks each and answer should be given in 75 words each.

(vi) Question Nos. 11 to 15 carry 4 marks each and answer should be given in 120 words
each.

(vii) Question Nos. 16 to 18 carry 5 marks each and answer should be given in 150 words
each.

(viii) Question No. 17 is related to fill in the map of the world.
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U1

& fadmen gea fafay —

)

A Il & STHET 68 S § —

(i) == (i) <R
(i) Xeorer (iv) efeves
TR ARIEIY BT A 3MfSd ST arel <9 § —
(i) W iy

(i) averew (iv) e
e A A P GIevT T el S 87

(i) v (i) Pura
(i) = (iv) =T
IR BT UIH TR SYUE BT 27

() vaTed — 3 (i) i
(ili) T (iv) amivee
IRA T ATATRSD AT & —

() faoeh (ii) =
(ili)  BrereraT (iv) =S

Choose the correct option -

(A)

Who is the creator of human Geography?

(i) Blache (i) Davis

(i) Ratzel (iv) Huntington
The most populous country of the Asian continent is—
(i) India (i)  China

(iii) Bangladesh (iv) Japan
Which of the following is called a golden fibre?

(i) Jute (i)  Cotton

(i) Tea (iv) Sugarcane
Which is the first communication satellite of India®?

(i) S.L.B-3 (i) Cosmos
(iii)  Apple (iv) Aryabhata
The trading capital of India is -

(i)  Delhi (i)  Mumbai
(i) Kolkata (iv) Chennai

[120]RuN-12 Page 2 of 8
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Fill in the blanks-

(5X1=5)

i)  The intensity of noise pollution is measured in ............ccooooiiiiiiiiiiiinnnn.

i) Indiahas .......c.coceveiennnn.

iv) National language of India is

.............. place in Tea production in the world.

(
(
(iii) The exchange of messagesiscalled ...,
(
(

v) Wateristhe .....................

U3 el orfsar 9918y —

@) AEEed HEA

(3) YRd BT HTeRCR

Match the following columns -
(A) Tea production state

(B) Atomic energy center
(C) Nainital

(D) Commercial crop

(E) Manchester of India

[120]RuN-12

(5%1=5)

(i)  Tourism city
(i)  Ahmedabad
(i) Sugarcane
(iv) Kalpakkam
(v) Assam

(vi) Kandla
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U4

U5

.6

.7

UHh I § IR AT —

) ATl BT I fH BeT ST 87

i) MR BT S Yad b HET ST 87

(
(
(i)  gfre=T TR RIS BaTS TGSl Tl 27
(
(

iv) PitTs Hel Mo &7

V) WRA H Faifd SEET g9 arell o9 hIiar 87
Answer in one sentence :-

(i)  Which is the state of spices?

(i)  What is called the lifeblood of business?

(iii)  Where is Indira Gandhi International airport located?
(iv) Where are the farmstead found?

(v)  Which state has the highest population density in India?

Wit gafervr & HIg 1 e oIl |

Write any two elements of physical environment.
32rar/ OR

AG T & Dls & HIGRAT el & A IRy |

Write the names of any two French geographers of human geography.

TTIBRT o ded &7
What is called urbanization?

3rerar / OR
foRTe TR & Pls <l Iarexvl IRy |

Write any two example of Megalopolis.

giThR Yfawy &I = 9187 |
Make a picture of circular patterns.

3erar /OR
& uquoT fhd Fed &7

What is noise pollution?
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us

.9

9.10

.11

U.12

FLT STeMRT &1 BIg O faRman fafag |

Write any three characteristics of sea water transport.
3rerar/ OR

YRR SAe] & Big o ey forfRey |

Write any three characteristics of Indian population.

faeh @mUR f&a wed 8?2 gaeT "gw falay |

What is foreign trade? Write about its importance.

3erar/ OR

P 09 AR A @ fRa |
Write any three means of communications.

Ted URTET BT YIfAd A aTel YITIfeld BRebT Bl foTfRav |

Describe the geographical factors effecting Road way transports.

3rerar/ OR

HST E¥E & BIg A1 g forRay |

Write any three importance of soil resources.

TS A | g9 ST b Bls AR HRoT foIfRay |

Write any four reasons of dense population in the coastal plains.
32rar/ OR

ORI ¥ Afgcelr FeRAT ¥ & $H 81 & dls IR BRI {IRIU |

Give any four reasons for lack of women literacy in India.

FHER AN Ud ofg SN H 3R forfay |

Distinguish between cottage industry and small scale industry.
3rerar / OR
ART P AT — i DT & IR ST 9d137 |

Explain the four objectives of India’s Import — Export policy.

[120]RuN-12 Page 5 of 8
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U.13

U.14

.15

.16

T et AR W el # iR fafag |

Distinguish between Surface water and Ground water.
3erar / OR

YRA H 37 ST & ST DI AT |

Describe the aims of Anand Dairy in India.

ST OS] IToTAT & Blg IR 3T Ud o foTfRau |

Write any four aims & benefits of Damodar Valley Project.
3rerar / OR
Ieh URIET & IR Aed foRau |

Write four importance of Road transport.
s JETTRIY Uael &l By IR F9y faRay |

Write any four problems of Mumbai metropolitan state.

3erar/ OR

TRAY TG & WIHATRY & hls IR HRUT TRy |

Write any four causes of Indian population migration.

UrIfie fhardhea fhd ded 8?2 SIER0T Afed 9uid BT |

What are primary activities? Describe with examples.

GPRITZOR
N TR & FHEE & dlg urd U fIRkau |

Write any five solutions of solving Industrial problems.
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U7

f=faRaa &1 favg a=fos § gorisa—

() FToie & Hedl SHUTGD &

(i) &I B G

(i) DICTST H HeAd™ STAHTT

(iv) e

(V) SIdhS g4TS 3TSel ()

Show the following in the world map -
i)  Coffee production area of Brazil
i) Bay of Bengal

iv) Delhi

v) Santacruz Airport (Mumbai)

(
(
(i) Cape town to Melbourne waterway
(
(

3erar/ OR

frferRea @1 favg =R o Sengy —
(i) @Y BIRRT Ve
(i) YFeg AR

(i) STCITRPT BT WTST
(iv) sfexr dis

(v) OAmM™T 98
Show the following in the world map -
(i) Cape — Cairo Railway
(i)  Equatorial sea
(i) Bay of Alaska
(iv) Indira Point

(

v) Panama Canal

[120]RuN-12
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U918  RA & W fAfgal & 7 forgay 6 va T @ fawmang forfey |

Write the names of the major soils of India and write the characteristics of any

one.

3erar/ OR

RA H S SR & (o) rawasd WiMifeld qemg forfy |

Write the geographical conditions that are required for Jute production in India.

[120]RuN-12 Page 8 of 8
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Total No. of Questions: 18

BTRR ADTSA TRIeT, famR—2019 B Tl A e - o4
Total No. of Pages: 04

120 - U

fawg : e

120 "Geography™ /22"

HHY : 03 HUC quiies : 70
Time: 03 Hours Class Xl (J sl - o0 Maximum Marks: 70
343:0 70:=bES
<l
Uit ()
_tetE5 L St 1A (i)
gL isa 3 Foui8e5 (i)
1300 oW 2l izt Fun L L 1e5  (iv)
e C TSNS SEWL 1zl = tE3L 1008 (v)
e CsW20 1A S Pt EAL Sy - 1561101 (vi)
- C1500 FLdSEWIUE izl 5t Bl Jv 180161 (vii)
e Fe i AT (vili)
&L S_EWHBE A4
(1x5=5)

(120)-U ruN-12

S bLLeEs2 AU (L)

(Devis)Uss (i) (Blache)é" (i)
(Hunting tan)o/<%+ (iv) (Ratzel)JJjecs (i)
te LT K272 (O

s (i) LE (i)

G (iv) Uk i)

e tbl B L vt @)

(Cotton)/y” (i) (Jute)ez (i)

(Sugar Cane)&” (iv) (Tea)el (i)
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S Ll Qo KLE ()
(Cosmos)Ux¥ (i) 3d-Jus (i)
s /T (iv) (Apple)f!  (iii)
e Qe SULE O
() I
deg  (iv) =4y {iii)
(1x5=9) S U 2
IPACINY S Seu2 (voice Pollution) $397d» (i)
B KL Gl S (i)
P Y17 S Yy V1T NP (11)

S LSS LE  (iv)
P E—— Kdi’)&u ld& (v)
(1x5=5) bzl 340w

A () erbasdigz ()
Aol (i) T80 (O

e (iii) Jodl @)
=4y (iv) Joo O
LT () AW G)
UEE  (vi)

(1x5=5) izt le gl )"

e telfL e febie ()

et Lol (i)

S Ul Sk s (i)
?ungé.gul[(Formsteack)u:’W:ﬁK (iv)
S Per LUl e lolie o Uil (v)
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Total No. of Questions: 26 Total No. of Pages: 08

ERR ABUSY W, foaw=R — 2019
130
fawy : o I

Subject: POLITICAL SCIENCE
(Hindi & English Version)

HAY : 03 HUC qurie : 100
Time: 03 Hours Maximum Marks: 100
fader —

() & gIT A &

(i) 7T BHEFE 1 @ 5 TF TG F97 & JAB F97 5 3B BT &/

(iii) F¥T HHIH 6 & 26 TF JAF F IJIaRF Qe 74 73 &/

(iv) 37 HHIE 6 H 10 TF A% J97 2 3 BT &/ G [ereg= Bl 91 HIET 4T 30 %

g/
(v) 5o FHHH 11 F 14 TF A% 97 3 3]F &1 &/ GV [orG7 Bl I8 HHT TTHT 75 I
g/
(vi) HIT FHIF 15 & 21 TF JdF F97 4 3iF BT &/ GV [or@ &1 g HEr T 120
I &/
(vii) F¥T FHIF 22 & 26 TF JAB FIT 5 3iF HT &/ GV 7@ Bl Isq HE FTTHT 150
T &/
Instructions:

(i)  All questions are compulsory.

(ii) Question Nos. 1 to 5 are objective type, each question is allotted 5 marks.

(iii) Internal options are given in Question No. 6 to 26 each.

(iv) Question Nos. 6 to 10 carry 2 marks each and answers should be given in about 30
words.

(v) Question Nos. 11 to 14 carry 3 marks each and answers should be given in about 75
words.

(vi) Question Nos. 15 to 21 carry 4 marks each and answers should be given in about

120 words.
(vii) Question Nos. 22 to 26 carry 5 marks each and answers should be given in about
150 words.
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N

) fred gAY —

)

@)

()

=)

A & FHI IRA H G a1 Rarad ofi?

(i) 542 (i) 552

(iii) 562 (iv) 572

IR A9 & ured H gof fhas arfwes 87

(i) 313 TR (i) 314 SR

(i) 395 IrITR (iv) 316 3rTwR

g Yeayg Aredr § Ffaiaa § o fw dare grafiedr <1 Tir?
(i) o (iiy =T

(i) HER (iv) ufRass

TIRR 2000 H WITYAT BT T —

() SoRES @) (i) TRES P

(i) BURTTE B (iv) Swdad dH IR DI
YA AR & —

(i) faTa &1 AvSelIHRT (i) iplad B

(iii) USE BT YbIHRT (iv)  UreRrebdrar (E=ars)

Choose the correct answer -

(A)

How many Princely states were there in India during the time of freedom?

(i) 542 (i) 552

(iii) 562 (iv) 572

How many articles are there in the drafts of Indian Constitution?
(i) 313 Articles (i) 314 Articles

(iii) 395 Articles (iv) 316 Articles

Which of the following sector was mainly preferred in first five year plan?
(i)  Agriculture (i)  Industry

(i) Communication (iv) Transport

Which state was formed in November 20007

(i)  Uttarakhand (i)  Jharkhand

(iiiy Chhattisgarh (iv) All the 3 states above
Globalization is -

(i)  Integration of world (i)  Cultural evolution

(iii)  Integration of state (iv) Regionalism

[1 30]-RJN—12 Page 2 of 8

(5%1=5)



g2 R vl o1 gfid Ry — (5x1=5)

(3 I3 1 5 B o IS [~ 5 L 22 T BT 2 |
@) A AAfFTHIOT I AR BT R, g Tl
RS RS L T A B =TS LI IR RS Kz 1 o H B o |
(@) WRA AR T oo H A 3R AT B A IR gaeR By o |
(8) WIRA 30 STATAR 1945 DT oo BT AGHT 7 |
Fill in the blanks -

(A) e is the barrier in person’s freedom.
(B) The position of women has become.................... by the empowerment

of women.

(C) The first Summit conference of SAARC was heldin .........................

(D) India and Russia has signed the treaty of friendship and
(oJoTo] o =1 2= i{o] 1 1 o P
(E) India has become the member of ...............ccoee.. in 30 October 1945.

93 UAS B (S ddd H IR QIR — (5x1=5)
(@) WA T & weal H yafeld AT GaT BT 9T 719 &7
@) AR gRT ST I f6d <3 H Ao e ofi?
() IRDT BT YRT A T 22
(R) SISO & AN H 3 dTell FId TSI TR AT 2?

) fafu fovg gg & 9 BRI sroRia oI &1 T Taey ar?

Write the answer in one sentence/one word each -
(A) What is the name of current common currency of European Union

nation?
(B) In which country India had sent Shanti Sena?
(C) What is the full name of UNESCQO?
(D) What is the main obstacle in the way of Modernization?
(E) What was the main condition of International politics after Second World

War?

[1 30]-RJN—12 Page 3 of 8



U4 WA/ I\ g — (5x1=5)
@ IR WU vH HSR Al B

@ qET HARAT HT UF AR B |
(

H) AR 7 AT 1991 H A7 3MfAd HRIGH IR |

@) Ul &1 Ragr= 1954 H MR @4 d1Ai @ QR AfHd gof off |
() igad g AY & Afvarey ke # ¥

Write true / false -

(A) Indian constitution is a rigid constitution.

(B) Bandung is a city of Malaysia.

(C) India adopted New Economic Programme in 1991.

(D) Principle of Panchsheel was famous in 1954 during Indo China
Conference.
(E) The Headquarter of United Nation Organisation is located or situated in

Paris.
U5 ol ol 9918y — (5x1=5)
(31) @)
(&)  onfrm Sl
@ IRYR IR A 1967
(@) SRS R H R anfefe Rerfa
(®) adIBRUT & |HI Al 1963
3) & RIge BT BRI ISR USRI IECE]]
Match the correct pair-
(A) (B)
(A) ASEAN Hague
(B) Tarapur Uranium Agreement/Treaty 1967
(C) Headquarter of International Court Economic Condition
(D) Challenges of Globalization 1963
(E) Cause of Regional Imbalance Maintains Competition

[1 30]-RJN—12 Page 4 of 8



U6

uz

us

.9

U.10

.11

o} TRy & g1 R TR |

Write any two results of Refugees Problems.

3rerar / OR
SREHT ST YRS 7 17
What was Instrument of Accession?
Rfdpa T & g411?
When the Sikkim state was formed?

3rerar / OR
3MTSITE HIAR T 57

What is Azad Kashmir?
YR Ao & &1 vgE Ea ke |

Write any two sources of Indian Constitution.

3rerar / OR
YR A |91 & U Gl & 4 o |

Write the names of main members of Constituent Assembly of India?

faeg §& & <1 STe faRay |
Write two objectives of World Bank.

3rerar / OR
R IFRE & B < W R |

Write any two objectives of European Union.

YRA T IS & 1 d91d & &l HROT foRay |

Write any two reasons of stress between India and Bangladesh.

srerar/ OR

e Fwsiid @ ®Ig a1 uraer forley |

Write any two Provision of Shimla Pact.

AR g @ 9 g REvad gargd |

Write any three main characteristics of Indian Constitution.
3erar/ OR

G YoTell b1 blg < faaeard e |

Write any three characteristics of Parliamentary System.

[1 30]-RJN—12 Page 5 of 8
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.12

.13

U.14

.15

.16

17

YR Gfder H aftia i T Hifeld AfEeRI & FRAT HITTY |

Explain any three Fundamental Rights defined in Indian Constitution.
3erar/ OR

HAfder o1 & 15 I9 T aeIdar darsdy |

Write any three main importance of the formation of constitution.

fereiaxer & ARt # o= arelt 3ig i dferg forRead |

Write any three main obstacles or barriers on the way of disarmament.
3erar/ OR

HYFT T FE DI YR URYE & oI 99 b iR |

Write any three main functions of the Security Council of the United Nation

Organisation.

A g e g AMIiTe uRye & Seed forlkay |

Write objectives of Economic and Social Council of the United Nations?

gerar/ OR
faeg—<arey e & B faRay |
Write the functions of World Health Organization.
HUSH MMM &1 IR e el fafad |
Write any four recommendations of Mandal Commission.
3rerar / OR
(I ST Td SIS & HedToT & o =els Sff R8! IR Ao faRed |
Write any four schemes that are being implements for the welfare of S.C. and
S.T.
fReRaT & P IR HRUT fARey |

Write any four reasons of llliteracy.
srar/OR
3N AT & IR HRT foIRay |
Write any four causes of Economical Imbalance.
ST AT RN & IR Y Bl Ud Afdddl &1 aoiF R |
Write any four main functions and Powers of National Women Commission.

gerar/ OR

[1 30]-RJN—12 Page 6 of 8
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U.18

.19

U.20

.21

U.22

.23

FEhRT GTed & AR anfefe oy foRa |

Write any four economical advantages of Cooperative Organization.

R 71 [ fRUear Y BT AR @i fHar s aR SROT oy |

Why did India adopt the Non-alignment Policy? Write any four reasons.

3rerar / OR
AT g€ & IR FROT ke |

Write any four causes of Cold War.

RIS ol B & Ieed (ol |

Write the objectives of International Monetary Fund.

gerar/ OR

e FRUE SfaIa &1 SU Al IR YehTel ST |

Write the achievements of Non-aligned Movement.

HRA—3FINBT A URATY] FHSIAT & &I Iual IR BRI Slferd |
Write any four main points of India — America Civil Nuclear deal.

gerar/ OR
TRA 9 UIfhd™ & 7 Aq9s & HRYT IRad |
Write the reasons for the Indo-Pak conflict.
JeHROT BT IR fIRwad foaRad |
Write four characteristics of Globalization.
serar/ OR
STYFBIHROT R T Hla o frRad |
Write a short note on Modernization?
IR TR TR Uh e foafeay |
Write an essay on “Kashmir Problem”.

3erar/ OR

I & e @l fTagadhar Ud uiRemd forfey |
Write the importance and result of Reorganization of states.

ATSTT—3TRANT & 3 Ud Bl bl forfRady |

Write the functions and formation of Planning Commission.

gerar/ OR
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U.24

U.25

.26

Ifaa ST Ud ST It & 1 foaRad |

Write the functions of Scheduled Caste and Tribes Commission.

THAATE FIT 8° FABT f[ABN SR Iy forRay |
What is Naxalism? Write its Origin and Developments.

3erar/ OR
HI9TaTE & e g9ra foalRad |
Write any 5 impacts of Linguism.

R afieicl T 2?2 S9P Sd & HRIT IR |

What is the Chipko Movements? Write the reasons of its origin.

gerar/ OR

YRA H AEDHRI AMQIAT DI AH I =g Goia Ifory |

Write the suggestions to make cooperative movements in India successful.

R faeer i &1 FeiRa $* 91l ygRg de@i &1 9o Bk |

Explain the main elements of Indian Foreign Policy.

AT / OR
TG ST B ARSI S Py Urd HROT IR |

Write any five reasons of rise (Emergence) of Detente.
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BRR AhUsy TR, faawR — 2019
140
fawg : s

Subject: ECONOMICS
(Hindi & English Versions)

FHI 1 03 T quifeh : 100
Time: 03 Hours Maximum Marks: 100
fAger —
(1) & 797 TRl &1 797 F41% 6 & 26 TF JT=<iRF @by &I 73 &/
(2) 77 HF 1 & &5 T TvGI70 H97 &/ FAF J97 & [o77 5 3@ &/ Y o7 UV V&% 3%
grared &/
(3) 7¥7 HHIH 6 H 10 TF FAF YV 2 3F I@icd &/ FdF B Sciv ATHT 30 TGl H
feifégg /
(4) 577 FHF 11 & 14 TF FAF GV 3 3F IMalcd 8/ Fdd &I Saiv I THT 75 ) 7
feifégy /
(5) 57 FHIE 15 F 21 TF FAPH GV 4 & 3yalcd &/ Fdd &1 Iy o7 120 FT&] 7
ferf&gy |
(6) 57 FHIE 22 H 26 TF HAPH GV 5 3F 3Glcd &/ FddH &I Fiv T THT 150 FT&] 7
feifégy /
(7) STTEIHATER G ENAT TSV ]
Instructions:
(1) All questions are compulsory. Internal options are given in question number
6 to 26.
(2) Question Numbers 1 to 5 are objective types. Each question carries 5 marks
and each sub-question carries 1 mark.
(3) Question Numbers 6 to 10 each carries 2 marks. Answer these questions
approximately in 30 words each.
(4) Question Numbers 11 to 14 each carries 3 marks. Answer these questions
approximately in 75 words each.
(5) Question Numbers 15 to 21 each carries 4 marks. Answer these questions
approximately in 120 words each.
(6) Question Numbers 22 to 26 each carries 5 marks. Answer these questions
approximately in 150 words each.
(7) Draw neat and labelled diagram wherever necessary.
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N

el fdbey gadR ferlay —

S

@)

)

I TSl “HIgHhI” g BT YANT B il & —

() =t (i) afeeT

(i) =T (iv) =R frer

gfcf ffolRad # & feas 91 8t &7

() e a7 @) orafy (i)

(i) SFY (i) iR (ii) (iv) =T Q IS T8
THEY ITe fRIvdr g —

() @ad gof yferRnfrar (i) Haet g SreTRER
(i) SFY (i) iR (i) (iv) Swiad ¥ ¥ BIs &
TR H LI AT BT T BT BRI HRAT & —

() < e afAfa (i) T =reE Qe
(i) e AR e (iv) T w=merm

JAIS a5 & i 1 H 9 P war \fafera 2?

() <= (i) fafor

(i) HER (iv) ToTer

Select the correct alternatives -

(A)

(B)

(C)

(D)

(E)

The word “Micro” was firstly used by -

(i)  Marshall (i)  Boulding

(i) Keynes (iv) Ragnar Frisch
Supply is associated with -

(i) A Time period (i)  Price

(iii)  Both (i) and (ii) (iv) None of these
Homogeneous product is a characteristic of -

(i)  Only perfect competition (i)  Only perfect oligopoly
(i)  Both (i) and (ii) (iv) None of the above

The national income in India is calculated by -

(i)  National Income Committee

(i)  Directorate of National Sample

(iii)  Central Statistical Organization

(iv) Finance Ministry

Which service is included in Tertiary sector?

(i)  Mining (i)  Construction

(ii) Communication (iv) Animal Husbandry

[140]-RuN-12 Page 2 of 8
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g2 Reaad =l &1 gfd sifoy — (5%x1=5)

O T o1 i B R 13 B -3 2 B T |
(i) TR AT F RATAR B DA oo 51 BT AftAferd fhar Siram 2|
)RS LR s PR BT ISR ¢ |
G IR B I L~ U9 HRAT & |
(V) T utueeeeesttueseees st aessesseERe e A AR A AR £ AR A AR R RS RA SRR AR Re e sR £ Re s e
Fill in the blanks -

(i)  Medium of exchange is a.........cooeveiiiiiiiiiiiiiii, function of money.
(i) Balance of trade includes only ..., item of the trade.
(iii) Income taxis an example Of ... ..o tax.
(iv) The budget is presented in Parliament by ...,
(V) RaANGE =i

U3 9 /3E 9y — (5X1=5)

(i) T MR BB R IwY ol 2 |
(i) 9o ufoarfY IR % B9 BT urdaedr g8 2 |
(i) wfd b1 B THT TRAY TE BT 2 |

(iv) ¥ed 999 9T &1 Urifie dE g |

(V) 97Tae N ¥ad Sxjfofd Yadl 2 |
State True / False -
i) Tea and Coffee are not complementary goods.

ii)  The perfect competition market firm is a price-taker.

(

(

(iii) Stock has no time - dimension.

(iv) Measure of value is the primary function of money.
(

v) Balance of payment is always Balanced.
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(e1)
(@) ufcReroe oy (i)
@) IOETR, =T AR T BT A g (ii)
(@) wifase gat (iii)
() 9T YN H GCH (iv)
(3) ImcTe B (V)
Match the columns -
(A)
(@)  Substitute goods (i)
(b)  The general theory of Employment, (ii)
Interest and money
(¢)  Fiat money (i)
(d)  The components of balance (iv)
of payment
(e) Indirect tax (v)

TS G /T § I folRay —
(i) A.T.M. &1 7f w0 a1 8?
(i) aoTc @ Irafy FAT BN 87

(i) IS BT Ub I qA18T?

(iv) foR &1 = forfay |

(V) 8 — 12 I A& HA S DIy |

Answer in one word/ sentence -

(i)  What is the full form of A. T. M.?
(i)  What is the duration of a budget?
(iiiy Give one purpose of budget.

(iv) Write the formula of Range.

(

v) Calculate the Mid — Value of 8 — 12.

Page 4 of 8

@)
IEEJRCT

ITe], ATaT IR Yoi @
Hebe drel H AEifad

1.

=Y 3R BB

(B)
Sales tax

Current account and
capital account
Issued in emergency

Prof. Keynes

Tea and Coffee
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U6

U7

us

U9

U.10

Y11

12

.13

AT & R @ 3T JUarg 98y |
Mention two exceptions of Law of Demand.

3erar/ OR
AT & ®I3 & e a@ faRag |
Write any two determinants of Demand.
JJTIRT & PIg 1T &A & AW Iadrsy |

Write the names of any two sectors of economy.

3rerar / OR
G.N. P. 3R N. N. P. &1 qof &9 o1y |
Write the full form of G. N. P. and N. N. P.
JHY HT & Plg < Tch d9disy |
State any two elements of aggregate Demand.

3erar/ OR
oIfie &5 § - affed g 287
What all is included in primary sector of economy?
HaT o1 gRHTT Y |

Give the definition of Money.

gerar/ OR

qaT & <l H8P B sy |
Mention two secondary functions of Money.

A fage &1 g3 fofay |

Write the formula of Mean — Deviation.

3rerar /OR

g faaree &1 g fofay |

Write the formula of Standard Deviation.

AT & A & Pl A9 A fIRaT |

Write any three importance of Elasticity of Demand.
sigrar/ OR

9ff & P i Feie o fikay |

Write any three determinants of Supply.

HAT &1 ot &I J95 D fhann faferr 87

How many methods are there of measuring elasticity of demand?
3rerar / OR

A7 AIferet a1 87 I8 fhas U&R &1 8l 27

What is a demand schedule? How many types it has?

fr=forRaa el W ucgel AfT gRT IR — HART Bl 0T BT |
40, 60, 80, 70, 100, 120, 150

Calculate Arithmetic mean by direct method from the following data.

40, 60, 80, 70, 100, 120, 150
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U.14

.15

.16

U7

U.18

.19

GT?TCH(OR
ferferRad THa! @ faeR &Y ToHT BN |

300, 310, 308, 210, 330 Ud 400
Calculate the Range from the following data.

300, 310, 308, 210, 330 and 400
JafhvoT Bl o= &) fha=n fafdar 27

How many methods are there for measuring dispersion?

STQTCITZOR
frer fafy gry ereel e &1 ¥ faRay |

Write the formula of Index — number by Fisher's method.

e 1A & eI BT g foIRdy |
Write the significance of studying Micro Economics.

3rerar / OR
Tafe 31 &1 fa9ryare forfRgy |
Write the characteristics of Macro Economics.

qof gfoanft qoiR &1 ®I8 IR Ry forRey |

Write any four characteristics of perfect competition market.

3rerar / OR
UHIOPR I dls IR faemdny forRkau |
Write any four features of monopoly.
RS §6 & BI5 IR &R frlau |

Write any four functions of Commercial Bank.

3erar/ OR
B 96 B DI AR B IRy |
Write any four functions of Central Bank.
YA O B faeyang foRay |

Write the features of the balance of Payment.

3erar/ OR
YA 2 H A D DRI AT |

Explain the causes of disequilibrium in balance of payment.

I UG 319cgel B DI IQTEX0T Afed FAASSY |
Explain the direct and indirect tax with example.

gerar/ OR
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U.20

.21

U.22

U.23

PRIRIYY & Dls IR gl & M faRkay |

Write any four Canons of taxation.

AT fa<reE & ®Is IR o7 qarsy |

Explain any four merits of mean deviation.
3erar/ OR

AE—T== B UbRI b A1 IRy |

Write the names of types of correlation.

ey faare™ R yHU g 8§ B8 IR 37X 9disy |

Explain any four differences between mean deviation and standard deviation.
3erar/ OR

fr=forRad sffrsi W FHIAN 918 gRT 91eg fa=rets &) 0T HIfY |

54, 57, 52, 49, 42, 56, 47

Calculate mean deviation by arithmetic mean from the following data.

54, 57, 52, 49, 42, 56, 47

AT & W @) A=y 9aigy |

Explain the Assumptions of the Law of demand.

gerar/ OR

oRf @ o A SRt fRey |
Write the Degrees of Elasticity of supply.

MR 3R oG & Hed &l AHsSy |
Explain the importance of National Income Accounting.

. 3ear/ OR
f=faRad sffeel @ MR TR 3 T fAf gRT IS T Y 70T HIFRY |
< T (HxTS H)
febran 8000
BN 5000
o 20,000
I g HOIGN 30,000
Ig™ 10,000
Calculate the National Income by Income method with help of following data.
Item X Crores
Rent 8000
Interest 5000
Profit 20,000
Wages and Salaries 30,000
Depreciation 10,000
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U24 3y fAfy & S Araenfar faRay |

Write precautions related to Income Method.

.25

Y.26

gerar/ OR

gof ISHTR 3R 3MBd dRISHIRI &I TRV B FHASISY |

Explain the concept of Full Employment and Involuntary Unemployment.

gole & 32y forfey |

Write the objectives of the budget.

gerar/ OR

=T gofe b UPR BT BIcl 27

How many types of Unbalanced Budget are there?

TRl el AT gRT o e &1 o Bifei |

g g 2007 I 2008
3 50 70
q 40 60
q 80 90
T 110 120
K] 20 20
Calculate the price index number using simple aggregate method.
ltem Price 2007 Price 2008
A 50 70
B 40 60
C 80 90
D 110 120
E 20 20
3erar/ OR

frferReT sifeel ¥ AR Tone < Iy |

48, 40, 52, 61,

45, 58, 56, 60, 46, 50, 52

Calculate Coefficient of Range from the following data.

48, 40, 52, 61,

[140]-riN-12
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BRIR ADUSS TeT, foa=R — 2019

166
ICL RIS RS

Subject : SOCIOLOGY
(Hindi & English Version)

FHI 1 03 T quifeh : 100
Time: 03 Hours Maximum Marks: 100
faeer —

(i) & g7 sf7ard &/

(i) T HHE 1 & 5 TP TG0 F97 & B F97 & [0 5 5d [FRT &/

(iii) Fo7 HFH 6 & 10 TH JAF F97 P foiv 2 & [T & Tor gid o7 &1 oV Har
30 I &/

(iv) T 415 11 G 14 TF JAF 97 & o7 3 3 [FERT & Tor g go7 @1 owv dhar
75 T &/

(v) T¥T FHIFE 15 & 21 TP JAE 997 P o7 4 3w [FERT & Tor gcde go7 @1 gav dar
120 ¥ 8/

(Vi) T FHIF 22 G 26 TF B 97 & [or7 5 3w [FERT & Tor s go7 @1 o7v Jar
150 I &/

(vii) F¥7T FHIFE 6 H 26 & Jalew @by &7 77 &

(viii) FRT Fe7 B [or7 STaAleT 3F F¥T B TG T 8/

Instructions:

(i)  All questions are compulsory.

(ii) Question Nos. 1 to 5 are objective type questions. Each question is allotted 5 Marks.

(iii) Question Nos. 6 to 10 are allotted 2 marks each. Word limit is about 30 words.

(iv) Question Nos. 11 to 14 are allotted 3 marks each. Word limit is about 75 words.

(v) Question Nos. 15 to 21 are allotted 4 marks each. Word limit is about 120 words.

(vi) Question Nos. 22 to 26 are allotted 5 marks each. Word limit is about 150 words.

(vii) Internal options are given in question Nos. 6 to 26.
(viii) Marks allotted to each question are mentioned against the question.
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gvs — 3/ Section-A
U1 98 fawen gaew fafay —

(i) 9Ra & T ¥ R &1 &9 — |1 ygE def v Rerg 22

@)  adeT @) AR
(@) sRegd () ST
(i) <feror YR & ST St | yged ® —
(@) U faare @1 @ dgu faarg &1
() wgufd fdars &t (T) B faarg &1
(i) WRT # AT ST Tea BT TINT Fa Ugel fhaa gRT fban Tar?
@n = srsaR @) Siud. geq
(|) weTe Tl (@) AT HHIE
(iv) f=ifea & 9 siremfiieoxer & fore smawas gom R 27
@) =0 drenfrar @ M — wfad
(@) uRdsd @ glawmn @) us Wl
(v) 9RA ¥ I o1 A @ veraer fod a9 § @ 187
(@) 1963 @) 1967
(|@) 1971 () 1974

Choose and write the correct option -

(i)  Which of the Hindu pilgrimage is situated in the East of India?

(A) Badrinath (B) Rameshwaram

(C) Dwarkapuri (D) Jagannath Puri
(i)  Toda tribe of South India has a custom of —

(A) Monogamy (B) Polygamy

(C) Polyandry (D) Marriage by capture
(iii) The word “Schedule Caste” was first used by —

(A) Dr. Ambedkar (B) J.H. Hutton

(C) Mahatma Gandhi (D) Simon commission
(iv) What is the essential feature of industrialization from the following?

(A) New Technology (B) Labour power

(C) Transport facilities (D) All of these
(v)  When the Rashtriya Beej Nigam was established in India?

(A) 1963 (B) 1967

(C) 1971 (D) 1974

[1 66] RJN-12 Page 2 of 8
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g2

U3

Rear vt @1 gfd @ifore — (5%1=5)

O TR 355 L B - P ) O HEd T |

(i) YRT ARBR GRT SYLIAAT INATIT T oo H urq o |
(ili)  TrET A SMETNBROT oo faarT & o ufohar 2|
(iv) WRT H TISTHT SMART B RATTAT T oo H @ e |
(V)  JTNDHROT BT IO faed B ASTARR F oo D Ufehar I 2 |

Fill in the blanks —
(1) e is the term used for marriages by Muslims.

(i)  The Untouchability Act was passed by Indian Government in the year

(iii) Basically the industrialization is one of the process of ............... growth.

(iv) In Indian planning commission was established in the year ............

(v) Globalisation means the process of ................... in the world economy.
fr=feRad gedl & ITR Ta e H QI — (5x1=5)
() "BIR T BT AW IRI” fHd 7gE FHE & T R ULI?

(i) WRd # acaH ST i fed 98 an g8 °?

(i) 6 14 99 I @ gedi & ford e AT BT MRF 2001 # fHar 741, BT
AT T 8?
(iv) ¥Rd & fore o & Jrgqgfad Sl & S a99 *1fdd &7

(v) URER, USSR AERI §RT &1 S arell R &I f5d 9/ 9 yaRd 87?

Answer the following questions in the word —

(i)  On which king’s name our country’s name became “Bharat”?
(i)  In which year the Present Population Act was passed in India?

(iii)  What is the name of the education plan which started in 2001 for 6 to
14 years children?
(iv) In which state of India the population of scheduled caste is maximum?

(v) Name the education which is given by Family, Neighbous and Kinship.
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U4 A /39 falgy —

) MeEmfexe & o 1 TSR AWa T8l grar |
i) uf¥aiexer U dever ufshar g |

iv) TRIET &1 ve e Sewd Afdd BT WRGRI AT Bl G Y& HIAT © |

(
(
(i) MTIT B IUNH BT 31 gy & ford I5e USfa &1 TN HAT 2 |
(
(

V)  SHIGdl edred] H HHS] GUR STl d9Y Usdl IR FHIS §IRT AR b

T |

Say “True” or “False” of the following —

(i)  Urbanization is not possible without Industrialization.

(i)  Westernization is a Neutral Process.

(iii)  The meaning of approach of study is the use of Scientific Method for

Studies.

(iv) The main objective of education is to provide the people facilities of

government service.

(v) In 19" Century Social Reform movement was first started by “Arya

g5 fifed 9ol & dra 98 Sifsdt 99180 —

Samaj”.
()
(1) <Al gEs
2) vAUA. st
(3) IO BIBN
(4) TATER. 9
(5) #few ARue
Match the following -
(A)

(i)  D.P. Mukherjee
(i) M.N. Srinivas
(iii)  Rajni Kothari
(iv) M.S.A. Rao

(v)  McKim Marriott

[166] RuN-12
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@)
aiferfeas g1 gfea
AT &I
GER G
faerst gfear
g9 ST

(B)
Politics in India
Social movement
New — middle class
Village India

Dominant caste
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.6

uz

us

.9

U.10

9gvs — ¥ / Section—-B
TR TS B i f=1drd aar 87

What are the religious diversities in Indian society?

gerar/ OR

gH B gRwTET forRag |
Write a definition of Religion.
T FET BT Bl T gRATT foffey |
Give a definition of rural community.
3erar/ OR
P FGaT BI B TG FHE HEd o7

Which community is called urban community?

SURTH ¥ 3 RT T 87
What do you understand by Approach?

AT / OR
VeI SUNTH & SUINT O A& BIs al hicrs foIlRay |

Write any two difficulties related to use of Historical Approach?

Ta o fod geR amifoie aRadd ard 87
How the films bring social changes?

3rerar / OR
T AR & ed B e BN |

Explain the meaning of mass media.

IR H Afdq ey & Seeg a1 A7

What were the objectives of devotional movement?
3rerar / OR

RISTT RS I A b HRIfaal &1 farie fear?

Which social evil were opposed by Raja Ram Mohan Roy?
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Y11

12

.13

.14

U.15

.16

e & 31 Bl W BN |
Explain the meaning of power.
3erar/ OR
oIfa dem | #§ a7 fax 72
What are the differences between Power and Authority?
dig g4 31 fegl I IRl &1 Seerkg I |

Discuss any three features of Buddhism.

3rerar / OR

I e B N g Afce Reret 1 aHeg |

Write the three main moral teachings of Islam.

B wmifd & amfele ko faRay | (@18 F)

Write the economic consequences of green revolution.(any three)
3erar/ OR

JedIHRT B TRI IR & We S |

Explain the main features of globalization.

GoiIfe % o B TR T &7

What is the concept of capitalist farmer class?
3erar/OR

IRA # A IR & ol 1 U fd o <2 &7

What are the efforts done for the land Reform in India?

ATl HRA H AHISTD Fkpidd Udhdl & & dd a1 97
What were the main elements of social cultural unity in medieval period in
India?

3rerar / OR
TRA & IR WAz 3Nared o fbd yeR faf=ar § taar & grears fean?
How did the Indian Independence Movement motivated the unity in diversity?
IRT § A9 O 1 U FRwdneit &1 wwsngd |

Explain the main features of middle class in India.
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3rerar / OR
STHARIT gl & ATATSTD YAl DI TSI |
Explain the social impacts of population explosion.

W47 SEONCRN @ YE faRiwdmeli &1 gofF SR |

Explain the main features of tribes.

a1/ OR
IRA # S & i § ot a7 uRad+ gy 2?
What are the changes that have been made till date in the rules of caste in
India?
y18 fUg 9oy den A1g e ARG ¥ iR WE B |
Differentiate between Patriarchal and Matriarchal Kinship.

3erar/ OR
YRA & IRERFT AP &1 faemarnd foRed |
Write down the features of traditional culture of India.
U419 qodd H Hgad uRaR H gRacHl $I qHsgd | ($Is 9R)

Explain the changes in joint family at present. (any four)

3rerar / OR
A8 99 ¥ BN del gaAe aRkad @ 87
What are the present changes that have been made in Christianity?
U420 WRpAHIeT R Fiera fewoll ferfe?
Write a short note on Sanskritization.
3rerar / OR
iAo 9 YRT & T Sfaw &1 foe ave wifaa fasan 27
How has Industrialisation affected rural life in India?
u21 TRen & ugE Sy a1 2?

What are the main objectives of education?

3erar/ OR

URd H WdadT 9 Ugdl g dRg &I el yaver &1 Y= o1?

Which kind of education prevailed in India before Independence?
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Y22

U.23

U.24

.25

.26

YT FEE 1 UgE faRiyareii &1 qoie Hifoe |
Describe the main features of Rural community.

gerar/ OR

YT AT BT 7 31 8?2 AR FHIST § IR Ao & acH
JMERT &Y fagesT HIRA |

What is the meaning of Rural- Urban Linkage? Explain the present basis of
Rural Urban Linkage in Indian society.

YRR HRPIA &1 IRARTTT faeman fafag |

Explain the Traditional features of Indian culture.

3erar/ OR
fAf3a Spfa & Uga MR &1 v IR |
Explain the main basis of composite culture.
U dfId A8 b WU H 9RA H Al B THRIRI B f[ddeTT B |
Explain the main problems of women as a deprived group in India?
3erar/ OR
IR H ARl & ford Faene gl &1 aoiq S |

Write constitutional and other measures for women in India.

IRA # o9 & S22 7 87
What are the objectives of planning in India?
3rerar / OR
IRA H oM & Ghaldl | GafEd U@ qrmsil o [3aadr S |

Explain the main obstacles related to success of planning in India.
WRA H ATHINSTD ST &1 SFeRoN e yq faeivany feif |

Explain the concept of social movement and write its main features in India.

gerar/ OR

AR faaer 1 a7 312t 27 AmEifTd faae & BRON & fAda-T BT |

What is the meaning of Social Deviance? Explain the reasons of social
deviance.
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Total No. of Questions: 18 Total No. of Pages: 08

BRR AhUsy TR, feawR — 2019

168
fawa : g fa=m
T, fEfRracfsl gus gigsi (el )
Subject: HOME SCIENCE

Anatomy, Physiology and Hygiene (Art Group)
(Hindi & English Version)

FHI 1 03 0T quiid : 070
Time: 03 Hours Maximum Marks: 070
faeer —

() & go7 sifard &/

(i) 7%7 HHEF 1 @ 4 TF TG0 J97 &1 AAF & o7 5 3 [FRT &/

(iii) 777 FHE &5 & 18 H AR vy 74 12 &/

(iv) 797 H51F 5 & 7 TF JAd F97 G¥ 2 3 aied 81 Fie F97 &7 ST T THT 30 F= §

dforg |

(v) 7%7 HHIE 8 & 10 TF Fd% 99 UV 3 3i& I4IcT &/ FdE 97 &7 IV TTHT 75 <]
i

(Vi) 7% HHF 11 F 15 T& JodF F97 G 4 3& J1GIcd &/ FdF 97 B IV TATHT 120 7T
7 dforg )

(Vii) 7% FHHF 16 & 18 TF FAF F97 T 5 3& 1dlcd 8/ Fde 97 & TV TTHT 150 FI7T
7 forg

Instructions:

(i)  All Questions are compulsory.

(ii)  Question Nos. 1 to 4 are objective type questions. Each question allotted 5 marks.
(iii)  Internal options are given in Question Nos. 5 to 18.

(iv) Question Nos. 5 to 7 carry 2 marks each. Write answer in approx. 30 words each.
(v)  Question Nos. 8 to 10 carry 3 marks each. Write answer in approx. 75 words each.
(vi)  Question No. 11 to 15 carry 4 marks each. Write answer in approx. 120 words each.

(vii) Question No. 16 to 18 carry 5 marks each. Write answer in approx. 150 words each.
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U1

Al f[Adpeu gaax foilead —

)

3Rer woaT # fATor Brar § —

(i) TS Iad Bl BT (i) ¥Id Iad BN BT
(i) wreoreH BT (iv) TITSHT BT
9y T & SFT W & AT g ® —

() omRifae (i) TSR
(i) gfy e (iv) RreitaR
T DI THT BT HEA 8 —

(i)  epre (i) e
(i) o (iv) oo
TGS Bl URTE S & —

() WP (i) FroTer
(i) @R (iv) @
M AT -

(i) =4 (i) 3=
() S (iv) 3™

Choose the correct option -

(@)

Produced in bone marrow -

(i)  Red blood corpuscles (i)  White blood corpuscles
(iii)y Platelets (iv) Plasma
Hormone secreted by anterior lobe of pituitary gland is -
(i)  Thyroxine (i)  Adrenaline

(iii) Growth hormone (iv) Parathormone
Milk sugar is called -

(i)  Glucose (i)  Fructose

(iii) Lactose (iv) Maltose

The famous embroidery of Lucknow is -

(i)  Phulkari (i)  Chikankari

(i) Kantha (iv) Kasuti
Artificial fibre is-

(i)  Wool (i) Rayon

(i) Jute (iv) Silk
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(i) BEBRT T Foooooeeeseeeseoeeeesosoeesesesesoeeoesesee R& & & |
) TR = =3 EMAM &I HH H BIaT 2 |
) T T=: 2 H e Smar 2 |
AT T3 @1 fAetTae & 9 2 |

[ T Holl AT Bl DS ¢ |
Fill in the blanks -

(1) e blood is found in pulmonary artery.
(i) Diabetes is caused by the deficiency of ..., hormone.
(iii) Brick powder is adulterated in........ ...
(V) et e is adulterated in honey.
(V) e is the measuring unit of energy.

(c) demgmH frd wed &7

(d) #RTP B fFA dad 22

(e) oUTZHN UM | BT B fderar &7
Give the answer in one sentence each -
(@) What is Heart sound?

(b) Whatis direct income?

() Whatis heredity?

(d) What is magic fibre?

(e) Which hormone is secreted by thymus gland?
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U4 B SISl 99180 —

-
(i) frerfe &
(i) areraT

(iii) HPD T FDR
(iv) wohal
(v) fae™= Bs

Match the correct columns -
(A)

(i)  Vitamin ‘C’

(i) Tadasana

(iii) Salt and sugar

(iv) Fungi

(v) Vitamin Bs

U5  EHEFCdT B DI & bR IR |

()

(B)
(@) Mucor
(b) Pellagra
(c) 72
(d)  Citrus fruit
(e) Orange
(f)  For increasing height

2)

Write any two functions of hemoglobin.

3erar/ OR

¥qEE dF & I AFN & AW 9argd |

Write the names of main parts of Respiratory System.

[168] Run-12
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U6 995 B BIg o i fARe | @)

Write any two functions of kidney.

3rerar / OR
VST B Dis al BRI IR |
Write any two functions of ovary.
97  UefGT & B8 a1 9 faRay | @)

Write any two advantages of packaging.

3rerar/ OR
QTG T 87
What is “AGMARK”?
g8 IR BT AYAM o d FHI fhAa—fdhd 9ral 1 e | @A Anfgg? ®3)

Which things should be kept in mind while taking temperature of a patient?
31erar / OR
THIER &1 U 94 & fafdy forlRaa |

Write the preparation method of tomato soup.

U9  HUNU & Blg dF BRI felRed | ®3)

Write any three causes of malnutrition.

3erar/ OR

UHINR, BT YAIAT B dTel dRb faRaA | (bl )

Write the factors affecting B.M.R. (any three)
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10 qIAERY © YR IR | 3)

Write the types of environment.
3rerar/ OR
FRATHA BT YMIFIT &l dTet aedl @ faRed | (@18 )

Write the factors affecting heredity. (any three)

Y41 T B SRS T Bl AHifbd o 918y | @)
Draw a labelled diagram of internal structure of skin.
3rerar/ OR
JaH D ATARE o1 BT AW fF a8 |
Draw a labelled diagram of internal structure of kidney.

12 FEAMRRINGR & Bis IR el forRkad | @)

Write any four symptoms of Kwashiorkor.

gerar/ OR

IR & PIs IR &7 forRay |

Write any four symptoms of marasmus.

o € o\

713 TASTelIdRoT BT F9s1sY | (@)

Explain “Dehydration”.
3erar / OR
HIog uRRReor & = Rigid 87

What are the principles of food preservation?

[168] RiN-12 Page 6 of 8



U.14

.15

.16

U7

Pers UG Rids & Rigrdl o1 Tt STy |

Define the principles of cutting and sewing.

3erar / OR

Hels P IRID cldl BT TU BIOTT |

Explain the basic stitches of embroidery.

foreTRTeRe &1 fh=sl IR IR Bl Jagey |

Explain any four problems of adolescence.

3erar/ OR

TR BT YATfAT B dTel fhsl IR HRDBT BT THISY |

Explain any four factors affecting health.

G T 27 Xad b Hrd fIRay |

What is blood? Write the functions of blood.
31erar / OR

T IR BRT # R oy |

Write the differences between arteries and veins.
g fAFRITST &1 & A dii—aF A 87 Bl Uh A Bl GHsgd?
What are the ways of investment? Brief any one of them.
3erar / OR
IoIc I A T A9 &7 TSy |

Describe the importance of preparing Budget.

[168] RiN-12 Page 7 of 8
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U.18

IUHTEIT B IAfABRI BT gui HIFT |

Describe the rights of consumer.

3erar/ OR

SIS §RT fefde e Bg &1 v {6y o =nfee?

What precautions should be taken by a consumer to prevent adulteration?
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8IS Tho! e, faar — 2019
200
favg : fagm=
Subject: SCIENCE
(Hindi & English Versions)

|AA 1 03 HOC quifeh : 080
Time: 03 Hours Maximum Marks: 080
fager —
() & go7 sFard &/
(ii) Fo7 H% 1 & 4 TF TegI719 J97 &/ JAP J97 & [0 1x6=5 3% [T
g/

(iii) Fo7 FHIF 5 & 22 TF ARs [@bcT 9 T &/

(iv) FR&% §97 & oy aica sid G7d GHa Sjidd &/

(v) To7 HHIE 5 & 9 % Fddb F97 &I Sciv 30 &l d fory/

(Vi) T FHHIE 10 F 14 TH FAF 97 B GV ATHT 75 T 7 Gforg )

(Vi) F97 HFIF 15 & 19 TH FAB F97 BT IV TTHT 120 T & o7/
(viii) o7 FHHIE 20 F 22 TF B F97 BT GV ATHT 150 F5) H Sforg/

(ix)

o8l 3199gF & TP Uq TiEiied BT §95d )

Instructions :-

(i)
(ii)

(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

[200] run-10

All questions are compulsory.

Question No. 1 to 4 are objective type. Each question carries 1x 5 = 5 Marks.
Total marks are 5 x4 = 20

Internal options are given in question nos. 5 to 22.

Marks of each question are indicated against it.

Answer question nos. 5 to 9 in about 30 words each.

Answer question nos. 10 to 14 in about 75 words each.

Answer question nos. 15 to 19 in about 120 words each.

Answer question nos. 20 to 22 in about 150 words each.

Draw neat and clean labelled diagram wherever required.
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N

ﬂ@- aaiﬁq g; dN %ﬁﬁ — (5x1=5)

(i)

(iv)

(v)

gTad AT BT G AT &7

(@) NazCOs (b) NazCOs.10Hz0
() NaHCOs (d) NaCr

fcract fopamell &1 g v e axar & —

(a) ooy (b) orgART=

(c) W JifeAvie] (d) Swad Gl
e gftc |19 &1 frarer fear o wedr & —

(@) oFdd o Uga BRD (b) ST o UgEd IR
(c) f& — Byl o Tga dD (d) SwIad F+f
faegd wIfd &1 SFaRIsiT ugfy # #rse ® —

(a) T @l (b) dfc

(c) fdeidic wer (d) Suda aH
3NN WA & fog & a1l SRS & —

(@) W (b) A AT

(c) SOz, SOs (d) CO, COz

Choose and write the correct alternative -

(i)

(ii)

(i)

(iv)

(v)

The formula of washing soda is -

(@) Na2COs (b) Na2C0s3.10H20
() NaHCOs (d) NaCrs

The reflex actions are controlled and coordinated by -
(@) Spinal cord (b) Cerebellum
(¢) Medulla oblongata (d) All of these
The removal of short sightedness is done by using -

(a) Concave lens (b) Convex lens
(c) Bifocal lens (d) All the above
The S.1. unit of electrical power is -

(@) Horse power (b) Watt

(c) Kilowatt - hour (d) All the above
Factor for hole in ozone layer -

(a) Aerosol (b) Gel sol

(c) SOz, SOs (d) CO, COz2
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Reret v wRA- (5x1=5)

(1) Ino reaction two or more substances combine to form a new
single substance.
Dobereiner grouped the elements into......................

Haemophiliaisa..........ccooeevieiiinnn. disease.

(2)
(3)
(4) The angle between two edges of a prism is called.................
(5)

5) Protein is absorbed in the form of..................o.
SEESISIERIERE (5x1=5)
i (31) BicH (9)
() &a e (a) focrera
(i) foer <= (b) T (Ho)
(i) \Hde <Y (c) @xd
(iv) eafy oguor (d) =& TE & ol
(v) J¥mHE (e) 80dB
Match the columns “A” with “B” —
(A) (B)
(i)  Liquid metal (a) Gall bladder
(i)  Bile juice (b) Mercury (Hg)
(iii)  Plane mirror (c) Kerala
(iv) Sound pollution (d) To see face
(v) Surangam (e) 80dB
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U4

U5

.6

TP IR H IR QIford— (5x1=5)
(1) v fafeear # << g8 efsedl &t Sien # fhder SyanT fear siar 872

(2) FASE! UIg I Bel ¥ UTK B &7
[ 7 fhad YPR & BEME B &7
(4) wplas =ga &1 Rigid fea d=nf+e 7 fear?

C
Z

(5) Y T fHd dlec &I BT &7

Answer the following in one word/ sentence -

(1)  Which substance is used in case of fracture in bones?

(2) From where does saprophytic plant take food?

(3) How many types of plant hormones are there?

(4) Who gave theory of Natural Selection?

(5) What is the e.m.f. of Dry Cell?

9T BT SR IAfhar T ded 87? @)
Why is respiration considered as exothermic reaction?

a1/ OR
Y H STA I Ul HHIRRE R dI A% Rl fHI1 SIar &7

Why should a magnesium ribbon be cleaned before burning in air?
SIRIER & TR0 B T HHY g8y | 2)
What were the limitations of Dobereiner’s classification?

grerar/ OR

I ™Al DI 3TN WE H I @1 AT &7

Why do you think the noble gases are placed in a separate group?

[200] RuN-10 Page 4 of 8



U7

U8

.9

.10

Y11

T—URMO] T TR—URIOT H & R qeirgd? 2)
Differentiate between self and cross pollination. (Any two)

3rerar / OR
T UoT Ud 3rlfiie g H BIS <1 3R 9aTsy |

Write down the differences between sexual and asexual reproduction.

(Any two)
HUSE o U YANT & o) #ex & Ul Bl Al AP DIg &l SR I8 | @)

Why Mendel selected pea plant for his experiment? Write any two reasons.

grerar/ OR

RIS & PIs &l BRI I8 |
Write two functions of Chromosome.
ol T 27 @)

What is lens?

3erar/ OR
el Y07 fhd ded &7
What is spherical mirror?
faare rfwforar &1 Fare ifafshar @ fauRia @i e Sirar 27 3)

Why are decomposition reactions called the opposite of combination

reactions?
3rerar / OR
FfAfHAT B R B Y9G BT Tl I HRE gdTsY |

State any three factors that affect the rate of a reaction.

e gfic I fFa Fed 2?2 fF < gu 9ased o s MaRe & far Sirn

What is short sightedness? Explain by diagram that how it can be removed?
3erar/ OR

R—3fe AN 5y ded 2 foF Iax wwesd |
What is long sightedness? Explain by diagram.

[200] run-10 Page 5 of 8



.12

.13

U.14

U.15

.16

fagd ws T 87 SHBT 91 SuAN 87

What is electric fuse? Write its use.

3rerar / OR
fgd @ IR0 | AERT BIs & a9 9arsy |
Write Faraday’s law of electromagnetic induction.
YT RIT &7
What is Short Circuit?

3rerar/ OR

faera uRuer YT - FHa DIF—D AT Araen =l &= A1fed? (1g )

What precautions should be adopted in using an electric circuit? (Any three)

I ifAfar va Aifara sifaforar § o8 o sfar forRay |

Write three differences between nuclear and chemical reactions.
3erar/ OR

AADBII Fera 3R AADHI fagoes § O iR foifed |

Write three differences between nuclear fusion and nuclear fission.

FIT BT © 19 faRoTd 9qoT Bl IR H AT ST 82

What happens when bleaching powder is left open in the air?
3erar / OR

foream @1 22 91 BIar & ofd 39 100°C WR ITH B 57

What is Gypsum? What happens if it is heated up to 100°C?

et &1 gorag = fdwg A=A - 18Y —

(i) H=S

(i) F2

Draw the electron dot structures for —
(i) H=S

(i) Fz

[200] run-10 Page 6 of 8
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17

U.18

.19

a1/ OR
1 Al o1 FREAn R SR —
(i) sHYT
(i) =g
Draw structures for the following compounds —
(i)  Bromopentane

(i) Butanone

A® & UrEad B dadl AHifed &F 9918 | (@)

Draw labelled diagram of digestive system of human.

3erar/ OR

A™ & gad $I ARG EEFT BT Dt AMifdba = 97183 |

Draw a labelled diagram of human heart showing internal structure.

A8 & UARASh @ AR BRI ok | (4)

Write any four functions of fore brain.

GT?TCH(OR
gferadt fohar &1 Warfera 99183 |

Draw a labelled diagram of reflex action.

Y =Tt &1 UfeRy fha—fa dRel W) AR Hxar 27 (4)

Which factors does value of electric resistance for solid conductor depend?

3erar/ OR
fagd <iue b @ed § iR I8 f6d Rigid W 1 Hrar &7

What is electroplating and on which principle based on?
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9.20

.21

Y22

Tl Td STl @& Hifad O @1 ol diford | (SIS df=)
Compare the physical properties of metals and non-metals. (Any five)

AT / OR
Sl sifedTse T B8id 27 < SYIUHT SifdaTge! & 3w A IfvR?

What are amphoteric oxides? Give two examples of amphoteric oxides.

ggsl ¥ e A | g a1 &1 dhaal o gRT TSy |
Describe with diagram the reproduction in hydra by budding process (only
diagram).

3rerar / OR

U & HIET ST 37T BT dael f&H §RT AHSY |

Describe the female reproductive organ of a flower only diagram.

RIGAT BT IRIATNT BT R YBT1IT & WRIGad & g9 Bl fHRoT NG gRT
TS |

Define reflection. Explain the “law of reflection” of light with ray diagram.

3erar/ OR
15 WAL BIHd U BT g fadd oF fbdl f[dg o1 ufafda o 9 10 94 W ®

gear 8, fd9 o 9 fha g2 w Rerd 22 fawor v Eifeg |
A concave lens of focal length 15cm. from an image 10cm. from the lens. How

far is the object placed from the lens? Draw the ray diagram.

[200] ruN-10 Page 8 of 8
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fowy : fagm

Subject: SCIENCE

535 Eaon- - o

803:«L'L"’5u.lzj4'_u.l:1

el

Uit (i)

gt Petx5=5 L L vkl T (i)
gL e i F2265 4 Gii)

~Slne bl Yie bt P2 L Ly (iv)

- & EWIB0 26Uy 179051 (V)

SE ks T5L Fiz6r 11401001 (vi)

“ZHUt 51200 F_1z6Uir 17196151 (vii)

Sk sW50L F_iz6irS 1722020 1y (viii)

el Sl F oS Ul (iX)
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[1x5=5] _a%,né_',eﬁww,géd 1 41y
:‘g(FormuIa),bgL’aKljrﬁl; (i)
Na, Co310H20 (b) Na,Coj; (a)
Nacl (d) NaHCo3 (c)
Ut 2 Aaslb 2 5ESIJSISA N (i)
(Cerebellum) &’} (b) (Spinal chord)#17 (a)
fl{,:l (d) (Medullaoblangola) 021&)!1}:}3’ (c)

e o \n g 5L JFHE NP7 (i)
(Convex lens)x—s (b) (Concave lens)--» /2 (a)
FZy (d) (Bfocal lens)owsfls  (c)
e unideIST IS Fds  (iv)
b (b) I/ )]
FLyp () #3enf (o)
(ML Sy ()
(Gel sal)JLJ?  (b) (Aerosal)JLs/s!  (a)

Co,So, (d) So02,S03 (c)
[1x5=5] _E AR 24
_%:;;J:@Lu/ﬁg ugﬂ;)l.uya,»&»u:gf@ ..... (1)
ce o el a5 (2)

-« U/ LI(Haemiophilila) Lsr  (3)
e b K en L Ust s (Prism)sF Ll (4)

e b it ey (5)
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[1x5=5]

[1x5=5]

[2]

[2]

[2]

[2]

(200) UR-10

e bulil 34

B¢ ‘A¥
(Gallblader) (a) =l
(Mercury) o/} (b) (Bilejuice):f.:bdﬂ/i

I (e) (Plane Mirror),gffiy
£z (d) (Sound Pollution) (7 s
80 dB (e) (Surangam) £/

LIS 90 -

PRTRY A EERARBY SOy SATINENT.
tet/ o UY15 I(Saprophytic)lesy £
S st L L LUy
o U B LD
?‘gt‘nﬁﬂuzdfﬁ
St LU S (Exothermic) e inf”
o
S bl U Slof’ (Ribbon)uadiﬁgg%c,é.u,auﬁm
_e B sl S a e
o
e U U u;;)f.ﬁ/ (L g kI JL T
(3L 153 glenL (Self and Cross Polination) i sy
o
& 123 TN S T
-é.U’i:«Q)?;)Jéf?y/u;{_/@'lguszﬁ/viﬁé.i'%lé;dkf‘

€€ 9
L

- ’&6 J (5193 éi/c_/. r)Jr‘)/

Page : 03 of 05

(i)
(ii)
(iii)
(iv)
(v)
4/,’Ulf
(1)
(2)
(3)
(4)
(3)

:5/{;‘)1;/

6,41

74

84w



[2] ?‘alml[(Lens)/ﬁ :9/,2le
“.L.,,
7

e bwlfet (Spherical)d)/

[3] (Combination seaction)J'GJ'dLJ!(Decomposition seactionUG}'dUﬁu{ :10/,‘;le
?‘at'll‘«‘/ (opposite) sk’
“L’,

_e bl Gl eSS
31 S Ly P S P e b /isse b/ P (Short Sightedness)gicls? 11,71

€€ 9
b

-’g.l{?;ugfrlﬂljtat‘ng@‘;}( (Long sightedness)(j}m

[3] eyl sl tnlf (Fuseysdde 12401

“.L',,
-éffuﬁ;/gcCJ(Electromagnotic Znduction)Jl/ (f"‘bti‘ﬂﬁ/.d:;ﬂ/'

3] fe_twlf (Short Circuitys 2 13 4J1r

€6 9
L

z bt AL LS Qe S P UL S ei(Electric Circuitysd.

z,md}uz?é/uwéawd,yﬁnéygg 1 4/:0’;"

[3]
“k”
_e 13 Af BunL (Fission)y A0 sl (Fusim)e s JU2
4] ?Kngcé:n&//uﬁlnﬂ (Bleaching Powder) 35 ¥ 154 Iy

€€ 9
L

2P/ 5000 e it (Gypsumy
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[4] s a6
F2 (i)  HaS (i)
@
o E APl s
(Buta none)usty (i) L (i)
[4] -’éuk@:fwwﬁrw&w 17 A
@
_e b S Lot L1683 L Gaatd B U
[4] -’&qulj.lgéfdi(Fore brain)ét:g”fv :18/,‘Ulr

€€ 9
L

o

-/.“de»@:(G:]tugK(Reﬂex action)dJWlJ;’

H e IS B eap G I AS 9w
‘@
?98/(K{d/kf;ul?‘aGng(Eloctroploting)d/KU"@/.
[°] (ég@f)-éJ@Ka«&aﬁdﬂu?wff’u?w :20 41

€6 9
L

.

-Zf.“;ufi't‘wd/uf.ugg(Amphoteric oxides)¥ L T
[5] Wb S d s ESE I i s L S sy 2140w
“L’,

-’gl:%/;;ﬁ@.ﬂ/@lhgdf:’/ ( Female Reproductive organ). ##\6 ¥ (i
_’gt{;’/(Law of reflection) (&%/c;uJLGJW".’f;-Q/.’U‘Uﬂ” :22/,‘Ulf

“L,’
[5] o3t bl g Sum K5 106 s 2 6 m S 2§ 15
-’é:d.’.@:fl}‘flaﬁ@j-‘aﬁgﬁzfaaxﬁ

XXX
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Total No. of Questions: 18 Total No. of Pages: 08

ERR ABUSY W, feaw=R — 2019
210
fowg : ¥ifds =
Subject: PHYSICS
(Hindi & English Version)

FHI 1 03 T quiies : 070
Time: 03 Hours Maximum Marks: 070

() T T FAard & g9 HHE 5 T 18 dF FAF F97 F ARE by 29 717 &/

(i)  F¥T FHIE 1 @ 4 TF JAH F97 G¢ 5 3F 3V Fd& GHeT Gv 1 3 [FERaT &/

(i) H¥T FHIE 5 F 7 TF FAF F97 qv 2 3% [ERa & gds vav & fov s oAy
T 30 T &/

(iv) o7 PHI® 8 | 10 TF FAF F97 G 3 3P [FElivd &/ FdF Fav & [y T5 Har
TTHT 75 T &/

(v) 3o BHE 11 G 15 GF FAF HI7 G¥ 4 3% [FEIRT &1 FAF TV & [oig T7 AT
T 120 T &/

(vi) ¥ BHIE 16 G 18 TF FdF HIT U¥ 5 3% [FERa 81 Jd® Tv & [ory T AT
FTHT 150 TT5 &/

(vii) STTEIHAFER W2 UF FANHT @7 T8/

Instructions:

(i) All questions are compulsory. Internal options are given in each question nos. 5 to 18.

(ii)  Each question from question Nos. 1 to 4 carry 5 marks and each sub-question carries 1 mark.

(iii) Each question from question Nos. 5 to 7 carry 2 marks and word limit for each answer is
approx. 30 words.

(iv) Each question from question Nos. 8 to 10 carry 3 marks and word limit for each answer is
approx. 75 words.

(v) Each question from question Nos. 11 to 15 carry 4 marks and word limit for each answer is
approx. 120 words.

(vi) Each question from question Nos. 16 to 18 carry 5 marks and word limit for each answer is
approx. 150 words.

(vii) Draw neat and labelled diagrams wherever necessary.
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g1 g% Yo H A T fApeni § A el fadbey g foriad— (5x1=5)

)

faegga enRar &1 S.I. 713® B—
(i) T B (i) S

(i) @t (iv) <o @t

o

U TR BT Giad IHH! oldlg &I Tl BRI IR IFBT URE B SITaT—
(i) amen (i) <
(iii) TP =g (iv) =R T

STHITH fhvee @1 p - TIgY gdrdd a9 & oIy ga8 fHeml ST arell

3Tgfg @1 FASTHT BT 8-
i) 3 (i) 4
(i) 5 (iv) 6

Al Fga geneell H IIMgedd o &I e eHdT my AT TF ol @l

3MaET &\aT me &, O JeFeell &l e &war gRfl—

(i)  mixmz (i) mi-m2
(i) M1+ m2 (iv) %ﬁ

Tt gUoT &1 gehal 31 R Q1 Iy X0 f H dwe 5—
(i) f=2R (i) f=R

(i) =3 (v) f=2
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U2

Select the correct alternative in each of the following -
(@) The S.I. unit of electrical capacity is-

(i) Stat-farad (i) farad
(iii) Coulomb (iv) Stat-coulomb
(b) On doubling the length of a wire by stretching, it's resistance will
become-
(i) half (i) double
(iii) one-fourth (iv) fourtimes

(c) The valency of the impurity added to the germanium crystal to make it
p - type semiconductor is-
(i) 3 (i) 4
(iii) 5 (iv) 6

(d) If in compound microscope, the magnifying power of objective is m1 and
magnifying power of eye lens is mz, the magnifying power of microscope

will be-
(i) mixmz (i)  mi-m2
(iii) M1+ m2 (v)
(e) The radius of curvature R and focal length f of a spherical mirror are
related as-
() f=2R (i) f=R
(i) =2 (v) f=2
R vt @1 g sf—
) I R T I S 2 S =
@ afe 1 MW uR#A™T arel & gfeREl &1 9o %A H Sirer 99, dr aRumh
15T 4L T BRI |
([) TP MY ACTHICT BT TIIRI..oooooeeeeseeesceess et BT B |
(@) ¥R GaRmI & BROT AT SO BT 8 % w9 | BIAT B |
(3) AR SUTE BT SMMATDTC ...t BT T |

Fill in the blanks-

(@) The dimensional formula of charge is.........c.ccoovviiiiiiiiien.

(b) On joining two resistances each of magnitude 1 ohm, in series, the
resultant resistanCe iS........coovv i

(c) The resistance of an ideal voltmeter mustbe............................

(d) Due to eddy currents, the loss of electrical energy is in form of.......
(e) The time period of communication satellite is.................coooeiiiiis
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3 W IS - (5x1=5)
w9 9T wHq T
@ dR~T 9 () Y=AB
@) wieE & kM gqe (i) Ier SIS
@) Bad (i) qvB sin®
(3) ST D (iv) 23
() NAND7e (V) SdTdST Bl AT Ud SAfdregr
Make the correct pairs-
Column ‘A’ Column ‘B’
(@) Lorentz Force () Y=AB
(b) Rest mass of photon (i)  Photo diode
(c) Fax (iii) qvB sinG
(d) Optical detector (iv) Zero
(e) NAND gate (v) Document communication
94 9 9 @ SR US ared H fRTo— (5x1=5)
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TRT fHvul &1 Bis U Sy forlRay |
ZoIdeT IR 39 &7 3fifhd 7 foalRad |

éXW?WWI

cifoRer & SIS Icuid Yaeid uRuer & forw fAash v faefg Rear &
A HeATR fbd=T 8IdT 87

TSSO URHIY & I WagH H orsad Avfl, WagH & &9 &3 H§ urd
BT T |

Write the answer of the following questions in one sentence-

State any one use of X-rays.

What is the numerical value of charge on an electron?

State the constitutions of nucleus ;\X.

For common emitter amplifier circuit of a transistor, what is the phase
difference between the input and output signal?

In the emission spectrum of hydrogen atom, Lyman series is found in
which region of spectrum?
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U5

.6

U7

U8

.9

g & TeHl # iF Bfa & ©IF R dleRigs (gad) vgad fBar Siar g | &®aie

Why do we use polaroids in sun glasses, instead of coloured glasses?

STQTCHZOR
I gaora WagH H Ja9 BF dAT Fad 3f8d dTaed arell a-a1l & =4 foflRey |

Name the waves of shortest and longest wavelength in the electromagnetic

spectrum.
ArafS ITS @ foly SUART # I dTell o7q # B —dbI= | o1 BT A1RY?

What should be the characteristic properties of metals to be used for

thermionic emission?

3rerar / OR

SI—drell T T 57 SI—dFell BT I FAIGIT Tl |

What are De-Broglie waves? Write down the De-Broglie relation.

TATART IR ffoTee Risia # @18 3T ofaR forfer |

Write any two differences between analog signal and digital signal.
3rerar / OR

gTIe Bl & faRvan gagd |

State any two characteristics of Internet.

3NEH &1 9 1 87 1 Mg &I | 941 Al & foly |9 27

What is Ohm’s law? Is Ohm’s law valid for all conductors?
3ar/OR

el a1 & 3. a8 9a, fovaiar vd orfaRe iRy # wwie enfid aifor |

Establish the relationship between e.m.f., terminal voltage and internal

resistance of a cell.
foars & fram faled |
Write Kirchhoff’s laws.
3rerar / OR
UfoRRT 2 3MgH, 3 3NEA TAT 4 3NFA dqTet oA UFCREN &1 (i) oo %A # (i) TAV=R
HH H SIS ST 8 | 9% S0 # Jod YRR Sd Sy |

Three resistors of resistance 2 ohm, 3 ohm and 4 ohm are joined (i) in series

(i) in parallel. In each case, find the equivalent resistance.
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v.10

.11

.12

.13

QI IR gedl & &g B g 1.5x10° fHAL 2| IfQ arg a1 fFafd & g &1 9
3%10° HIeX /HHUS &I, Tl UbIT bl GI F Yl b 3 H b1 T8 orim?

The sum is at a distance of 1.5x108 km. from the earth. If the speed of light is

3x108 m/s, how long will it take for light to reach earth?

3rerar/ OR
SHEY 9T 87 IE He 3MR Hel fo@rg <ar 87
What is rainbow? When and where is it seen?
3rflex e dleeHier # IR IR forlRad |
Write any four differences between ammeter and voltmeter.
3erar/ OR
el & gdbed B (AW~ FTIT RIT 87 514 e WIfUd HITT |
What are the different elements of earth’s magnetism? Derive the relationship

between them.

TR RN R 82 T R I BIdl 27 598 i STANT forRay |

What are eddy currents? Why are they produced? State three applications of

them.

3erar /OR
T aRu & forg 7 1 asTe o diforg—
Pav = Vims X lrms X cOS¢
Obtain expression for the a.c. circuit -
Pav = Vims X lrms X cOS¢
ffae gfe I fod wed 27 39 W &1 Maro e geR fear Siar 27 e

GIady THgSY |

What is myopia? How is it removed? Draw its diagram to explain it.

[210] RuN-12 Page 6 of 8

(3)

@

@



.14

9.15

.16

AT / OR
gof 3ffaRe WRrads &7 57 $9& foly F—a] vl s 8? Rig iy fa—

1

sinic

M:
What is total internal reflection? What are the essential conditions required for
it.

1

“:

I o9 & fory =1 g @1 e Hifsg—
1 1 _ 1

Establish the following formula for convex lens-

1 11

3erar/ OR
TP R el B SffShaH SAEET &HaT 51 2| A W g @ YaaH gl
D=25 ¥, 8, A1 $9H UYdd ofd BI el STd difory |
The maximum magnifying power of a simple microscope is 51. If D=25 cm,

find the power of lens used in it.
URATY] BT IR HiSel FIT 87 g9d! Y5 AWy faRed | (@rg i)
What is Bohr’s model of atom? State its main postulates. (any three)

3rerar / OR
AT 3G 3 HAT AR 27 FADT ASTdh UG DITSTY TAT 3 MY F FFaeT faaled |
What is mean life? Obtain expression for it and write its relation with half - life.
fogd fega 9 a1 arqd 27 0 faega fega & Pror sy Refa F 67 fdg w®
faera e &1 daar &1 AsTd U B |

What is meant by the electric dipole? Obtain expression for the intensity of

electric field at a point in end-on position due to an electric dipole.
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U7

.18

a1/ OR
HIIRF T 2?2 Aviishd H IS n [ BT o gIRdT & ol ST ured Sy |

FANE BT = W 9918 |

What is condenser? Obtain expression for the equivalent capacity of n
condensers connected in series. Draw diagram of the combination.

yargdl L-R uRuyr & forw gRumf fwaidr, wfoamen donm arT & awe At
PIRTT qAT aIRT T fAYaiaR & I HolidN BT Auid follRad |

In alternating L-R circuit, find: (i) resultant voltage (ii) impedance of the circuit

(iii) current of the circuit and (iv) phase difference between the current and
voltage.

3rerar / OR
@) TIBFR R 2° AT NGd IHsTSY |
() SRR B e IS geferd I € | F: Y

(A) What is a transformer? Explain its principle.
(B

) The iron core of a transformer is made laminated. Why?
feiaxor a1 2?2 o T ReadR & wu # P-N 9f s@e @1 avfq fmfeRad
el & i sifog—
(i) uRuY &1 AHIfhd Y@=
(i) el fawa Ton fonfa fava &1 99a & a1 gRad IR |

What is rectification? Describe the use of P-N junction diode as a half wave

rectifier under the following headings-
(i)  Labelled circuit diagram
(i)  Graphs showing the variation of input and output potential with time.

3erar/ OR
difste e fbg @ed &2 OR, AND, NOT td NOR WIc & dod Ud Iadl ARl
ERIERE
What are logic gates? Write symbol and truth table for OR, AND, NOT and
NOR gate.
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